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All India Mock for SBI Clerk Mains 2022-23 (7th-8th January 2023)

Q1. T " T 3% Jeot HRT T 9% asiq arw 7 T e
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(b) 9 ATEET

(c) Tt dgeaae

(d) o1 =

(e) Forer et

Q2. Ui Ther S| ATOTTard, 2022 T AT T 47 AT?
(a) ZrEFAT, ST

(b) ST, =

(CEEIGIAERIGR

(d) ST, ATEAT

(e) =r3AMTS, Zferor wHrtaT

Q3. YT fhel™ FHT JTET &l AL THTH TTTEF (NMA)
F AT % w7 H FYw A T 81 g eHRE GTieEer
(NMA) F &qmoar 3 ad & iy 72 of?

(a) 2010

(b) 2008

(c) 2006

(d) 2007

(e) 2005

Q4. 7 T F¥ =ty F T oot Fomr dF F ArHTOIF A-
AL (A9 % ATT-A7 I-HEATHT LT 5 &9 § 65 =g
ERIRIE Y

(a) THYT FeTraTe

(b) % ST STHTFTIT

() =T g

(d) =hfF=mas e

GIEEREIRSE

Q5. 13 TF2a< 2022 FT 7ATC MU a7 32 faw &1 &g 70
?

(a) BT = ATEE

(b) oo we

OEEERICICRES

G RGEEEEIEFR]

OEEREEIES

Q6. TT=+ FTAT TS T 2023 & =90 7 &7 1% 31 e
AT G819 39 99 Area g Feafa=meat § ofd woma wme
T 82

(a) STEAEET, HETE

OEECIEARERS]

(c) SEATETAT, L=

(d) sTETEET, FEhT

(e) ey, faeett

Q7. AT I UASH oI HeT 7 TreA™ & Foh 9187 & 600 MV
ZeAqT T T &1 TG F€T Ta9-91 Foi1 g4 I Fwar g2

(a) ST

(b) STTETE

(c) 3T

(d) ST

(e) &I

Q8. MHfered § & 19 97 &9 F9T THTEhdT 1 SAapT Tdis®
?

(a) 1T Raw

(b) et fae

(c) =t Faw

(d) Tz Ra=r

(e) =T faw

Q9. =1 a1 Zor o § <+t T & T=T IUTE ¥ ITHHT %
&Y H IALT § AT T F 5,000 AT H{eFw e (LMT) T SAferh
ST |71 T qa9 F27 [Aaiash g7

(a) ATSITT

(b) ATZT

CRIEEE

(d) =T

(e) FiaFEHT

Q10. sFEewHaTe grEft wwmvr R TsT w7 wiear geft
FEATLOT I AT 82

BEEREE

(b) AtHeTTg

(c) A=TTET

(d) FATew

(e) et
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Q11. 3 a1 &, Sl AT [ AT AT AT LY AT "7 Ty
GT AT e T FIA AT qAg & T off, ST a2 § 2012 F
A T9d S ST @Td § 98 T2

(a) 2002

(b) 2004

(c) 2005

(d) 2006

(e) 2007

Q12. AT F fqera, Afer &1 oq-37 Taaa &
AL I 33T 7T B ST FTSATE % siaeiq, Afert
FT AF-a 2 f3a7 & 14 =347 F =7 i srafer % forw G smar g
K8 I * dara, it #1 a9-a7 15 &=t
T 365 AT & = &t srafyr & forw T Srar 2

(@) T T, FHaTeT 32, Ferem 7

(b) Forrmeit =, T T, F

(c) T AT, AT 73T, Foramdr g

(d) TRt w72, T T, A o

(€) I &, AT o, oy g

Q13. g 9 & 10 BT § FTT F¥d ATl AN shl fAforsar &
rfea 3 & forw siaergi ardegdew faaw e faw = srar
?

(a) 10 3mT&ET

(b) 11 smTeq

(c) 12 smmq

(d) 13 sRTe

(e) 14 3wTET

Q14. 3 4T Tvede AATET (ADIA) afecy faeer goo
Z9AE FIAT fortiee (ABHICL) & 9.99% #t fBeaamt & form
Raer #v % fore qame 2
(a) 555 FIIE =TT
(b) 465 FIIE &9
() 665 FIIE =9
(d) 444 F0E &9
(e) 765 FIE ¥4I

Q15. TTh9T AAATAT &1 g1l 2t | faeT &7 217 T2+ T 62 a9
FT o | H{as | Y BT AT TeheT FAAAATAT T FareT Foherer g
)

(a) i

(b) 9T FTTE
(c) =

(O EELRE?
(e) F=rforeaT

Q16. FTEAT =T HiT % ThIH (SISFS) FT 3297 TTEAH Fl
FFALTIOIT F THTT, ST e, Icare areqvr, ST | Jaer
Y ATt & fou BT agEar y&= #2347 1 SISFS
RISEIRELACIR IR IR IR R

(a) 19 =191 2021

(b) 1 78t 2020

(c) 19 =191 2020

(d) 19 5TH 2020

(e) 19 31t 2019

Q17. F0T FvTe 2022-23 § JATHT T 4T | F, T5req A7
0.9% Ff& F = TS T I FT FATAT 2|
(a) 31.94 &G FIE

(b) 35.94 TG FE

(c) 40 AT FIIE

(d) 33.33 &IT@ FUE

(e) 30 TTE FZ

Q18. 3631 FIsd faa saafaal it g=T 2022 F qT H Aol FAAT
=1 Frfega it

(A) e 7EFR 239 faferae stae it e gufxy & v weg &
FFfaAr it AT H qIH AN 2, TEH A1E FHAST F THE T
Fe 171 fafere stee & a1 g

(B) STHIYHT # saufadl T a8 a=t &A1 735 &, et For
Tty 6.7 feforam siew g, oew o aes |1 onfier g, S agett
T s & sreaafaat it = § q99 T 2|

(C) =1 (TS T EITHIT HHd) 607 FTAATAAT o A1 AT RH
& § 2.3 feferam Sfee S §9r & 912 gL € T2 a7 g7 2
(a) TdT A, B3 C

(b) A ST B T=1

(c) Fa<T B

(d) Fa=T C

(e) A 3% C st

Q19. NABARD 7 &% wr=g ¥ arhor faeme= § fGemea
FTHCAAT T TTd Fe o o7 221.99 FUE w97 9L fhw &7
(a) g

(b) & J=9T

(c) 3L T=9T

(CIREIES

(e) STTEE

Q20. BOE {&7 &7 ¥ q¥Igid AT H ITART AT ST 1T
UF forfed sreer 8 ST UF 987 AT gAY 94 & "I 9T AT 09
Mgt | 97 s [fsa afr #7 swam #31 F o are
AT g1 BOE  "E' T 91T 87

(a) TFECT

(b) T

(c) TR

(d) TS

(e) TISTTFIT

Q21. F[UH ¥ T2 THENST YT 2023 FTAT FT 394 AT
Aot & Haferd < et & aT | Tad e T2 WE F g 7O
e wee fHEST YT 2023 % srqam ofid 3 ergwi & #ar Faen
Aeferfaa & & i = 82

(a) &&, e, sgia

(b) 7f3, ==, S7fr=

(c) &, e, =i

(d) #era=, ST, Fa T

(e) waw, =i, fErrer
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Q22. Fwforfera & & fFa wedhtwr waefle 7 wgett aw e
et AfaforT & woa gew sfawe sfagm = a7

(a) FHTHTT FIT

(b) =t =ra=T

(c) ST AT

CELEIEET

(€) T TTHITT

Q23. | e F w=TET H4AT 7 T &7 § "oy AfAwior
TEE-AT IT AT shiad FT & o7 "NIRMAN" @& FTAHd
T F3hT 8, ST AT AT & (ST 3 ST=ITHeRT [T gTer
qaaT 57

[a)aﬁaﬁﬁ,w

OEEEEARF]

CEEEEEIES]

(d) ST, FEA

(e) STEATEET, TETX

Q24. s 9 ZIRT (I {&T AFATHT 3T aguefia o 5% #
3ehTer sroferrer & Ay SuTener % =7 § frr g7 T a2

(a) STISF <t A58

(b) 3RTES ATHT

(c) Tt et

(d) 3= 379 Afera

(e) TH TH HaT

Q25. FI9 | FAT Hftea 5G dea & T TwFhTe T T %
TTE e § ATasTHa® &9 & IAT &= 2I<h FA ATl Tget 1
STITTET ey a7 T2 32

(a) =% Az aT forfaee

(b) THEHTT THRTATSIIST

(c) U U= & THIATSIT Fieersy

(d) ATz T TArgATy frfaes

(e) ¥fwren ey forfes

Q26. AT BT TTfeERT (AAX) F FeforeT gares orgt
H A 97 AT & Tge Flad-deed gaTs og 6 &9 § ae 13T ST
e 22

(a) =< SAqULTT ZaATe ST

(b) =T &ATE AgT

(c) AT AT TREATE gare AT

(d) AT AT BATE AT

(e) T BATS g

Q27. T ORI {aT AT forad & T us Afde
TuT st % forw d =1 srer arr st @ § s e s
o % faeg Ruefaerese =1 § o1 9 a9+ o= & =7 §
IERIEERER IS

(a) AT =T

(b) STHT STHTOT 957

(CEURITZEREE

(d) AT =T

(e)%ﬂﬁ@faﬁé’ﬁ

Q28. | §= 7 et St u= §9 F FwiaTee qrETers Ivarid
* Tgd AT % g Tog1 § "UTH FaT FTwT’ I 36 82
EREIEENEEEED

(b) WTEATT T2 §F

(c) =7 &=

CEREREER

BOEESIEIREIEIEEED

Q29. T¥ER FeAHNTE ATUEIT gaTs AgT Faf €T &7
(a) AGHSTATS, IS

(b) SRTAE, FATeH

() HarE, weTrg

(d) ST, WET TR

(e) &S, ITAT TN

Q30. RBI 7 &g & HIS[Er o Sl e T-Hiad i agraar
ITH | | SCATET S AT hT Goreher e & forg fSreer
THTAT @I T 2| RfSes T & spaa @ a sgfa
FIforSa® S0 w1 RBI | SATT oF #I s@edswar & fo=r
# DBU @1 &l AT 2l
(a)ft1a a6 ¥z
() a2 7 fw 6 ¥
(c)fre3afeareds
(d)farsafare s
(e sadmw 63ds

Q31. 7&a= "faive 7 et fier: 3uer eoq o SaarEe” & oEE
AT 82

(a) SATTEHAT 34

(b) ST AT

OEIRERIEIR

(ERERIEIE]

(e)WEFQW

Q32. "<k 1Y fase e 7 snfEfefore 2fosia aads *
YT & GTT TOITAT 3 GTET AT Tl TG FA o [oT0 TAATT
FIFA FU T (DICRA) & U o weir =7 & 419
ARfTETEY £ 32

(a) AfEEATE

OEEEES

(c) A=TTET

(d) F¥=1

(e) FATaH

Q33. % 3 U i Tw A9 gAtHe § ST sesie a1 #1d |
GAT STAT 21 e AT 2022 H T2 UHe &7 Eaqre e siar?
(a) T AT

(b) T HTT

OEBREEECES

O RIEIEEIEIEE!

(e) STfEfA= =fiw
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Q34. e 9% T Trw F Ty TSt o7 fawae FrediEe
Fead F AN ¥ W ARG § AT FEr0 "W w721 F
T o 8T Gga0T w1 f3har §2

(a) I o fa 9

(b) I=fraw o fag 9=

(c) FaTZa @ & 5%

(d) e 7 O 9=

(e) =8 | FIE Tal

Q35. WM H6g F HEedl 7 e a9 aF 92 U2 oY Shore
T i fasht 9% afdere o o fore waare & 82

(a) 2028

(b) 2030

(c) 2032

(d) 2035

(e) 2037

Q36. TR HAT 7 UF FgIEId T¥ITEH "G Fee 2022" | 91
foram e 16 o7 3ort 7 AT wwr foram g s e der #
gam

(a) HETITEFRT

(b) ATTETE

(c) =HT™

(d) wrferaT

(e) wetforaT

Q37. TATAYT YE9F ga&i® (EPI) & i |7 <91 ofi¥ 9% &, 7E
I ST Fretfarar Frafaemas F oveewdts w1 v @ & s
s 7 & Rzar &t Rufa &1 Ter-g=rfora geaisd IaT Fedl
a7

(a) 7

(b) T =

(c) STHTH

(d) Frewie

() T 5T THAHT

Q38. 3T 5T 7 ST TATIAT faaH 2 7 &1 7132
BEEEE

(b) afHeATE

(c) A=TT=T

ORIECERIE

(e) WeT JaeT

Q39. T=T a9 =@ % 9 & | T F A ot &
ATA=T ATHEA | oo T a1 oz v & e srenta
AT H F UF 22

(a) FAET

(b) faE®

(c) sfRermr

(d) ErTaTE

(e) Tfere aTTer

Q40. N7 faefT 'T=ar wereaa e TsT F /9T ST
HHTT G /AT 17?7

(a) 3189

(b) Frfam

GRIEEENE

GERIEERE)

(e) e

Q41. TSTET SIY T % F T & q99 § GEEh
X FTLATS § AT TS F GTEAH F FHIATead il SATAT 51 T ITAHH
e g e g1 GUhE i@ T F TATET 2 g 2l
(a) ®ifae At

(b) FeTehIf

(GREEIIREUE]

(d) TSR =TeT

(e) TS =TT

Q42. ISt TS | seqahTiore Tasfaat &7 AT 7T Srar g
T THH I THR 1T & ST IrfiE 9o S G s )
Referfd & & %19 |7 IS a1 F7 9789 a6l 82

(a) EfEeT

(b) T

(OEERIERPEIEIRES

(d) F=rft afREd=T ahar aaw

(e) FHT ISIT AT o ATeT &

Q43. UfEere g wefeay fohe 3or ® fRua g7
(a) T

(b) =

(c) ST+

(d) sregferam

() T e THITT

Q44. T & ¥ 19 97 9% 21 &7 § 7% TAT FT 6Ug
TUITEHT-T AT d2aeh, TIN 2.0 F T AT g1 ATAT T8l
TSI & T S a TAT 82

(a)IR=T §=%

(b) & #i HETCY

(c) streT S

CEEEREER

(e) WA T

Q45. NSO 2T F AT, 15 a9 i 3T 1fer o % =il
o orgdy &=t § CWS (FauTe Amties fufa) § 9w aa i
ARMERT 3T a9 2022 FF F4-7 [HTRT 7 a2t EIREIC)
ERE

(a)37.5

(b) 35.5

(c) 385

(d) 47.5

(e) 45.5
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Q46. T argw F fHfraaT, Tamsd o sreamet 7 greamafaT
TUITT T 9= SfiY S@TET oF & o gurm gt saag
TaTesy frET qEHe i Aot 612

(a) T, aRA

(b) foreaT, Faess

(c) T, 6 AT AT

(d) =T, STIT

(e) T, ZAT

Q47. == weomaw 7 e 3ot F forw 450 Ao st stew
¥ F-16 TETE S 92 F LT FTAHT Hl T[T &f g7

(a) STFATIA=TH

(b) ==t

GRUEZsIG]

(d) FveATSer

(e) T

Q48. HFT AT T9TTH ZIT v STIS il i Uadey g faar
TAT 82

(a) FaTe FIgelT ST AT AT

(b) TfEd et 3w Rfa=T a9iag

() TTETR f¥ig S SifoaT argahrr

(d) eTTEEE =T T AT G

(e) AT Frerer ST e AT

Q49. Ffofad & FI9 |7 AT TS AT | (NPCI)
T U IcITE 87

(a) 9T FIAT ATt FTe

(b) Trgr fafia fea=r

OEESAEERUGIERMIE

(d) TTE AR A FU”

(e) SUI<h Tt

Q50. T3 ArdshaTe TR g ST fohaT ST 82
(a) g d=

OIEECEURPER:E]

GESRERK IR

(d) sTreTTeT MY erif Heam

(e) Fh T Sifersh, FTTiaeh 3fiT ATERfa 6ra

Directions (51-56): Read the passage carefully and
answer the questions given below it.

By all accounts, the mortality impact of the COVID-19
pandemic has been exceptionally large. Crematoria, burial
grounds, and, in some places, even riverbeds are full
Tragically, almost everyone has lost at least one person close
to them. Given this reality, few people have much faith in
official COVID-19 death counts. How many COVID-19 deaths
are going uncounted? Could indirect effects of the pandemic,
for example through economic distress and disruptions to
health care, be contributing to a surge in mortality?

These key questions, being asked for over a year, are even
more pertinent now. In Gujarat, reports of overburdened
crematoria and lengthy lists of obituaries indicate a severe
crisis. Mortality figures from the civil registration system in
Gujarat, reported recently by the Gujarati newspaper, Divya
Bhaskar provide some insight into the scale of the mortality
crisis. To provide some context, official COVID death-counts
largely reflect deaths in hospitals, of patients with confirmed
COVID-19, where COVID-19 is listed as a cause of death.
Deaths where doctors do not write COVID-19 as a cause of
death on the hospital death certificate are missed.
Additionally, government “death audit committees” may
choose to omit deaths of patients with confirmed COVID-19
from official tolls, citing co-morbidities as the main cause of
death. Finally, deaths at home, whether of those who were
tested or not, and whether test results were positive or not,
are largely missed by the system.

In contrast, India’s civil registration system is supposed to
register all deaths — COVID or not, at home or in a hospital.
Civil registration has been improving, and across India about
86% of all deaths were registered in 2018. In Gujarat, civil
registration is considered to be complete by the Registrar
General and Census Commissioner of India. Divya Bhaskar
reported that during a 71-day period between March 1, 2021
and May 10, 2021, there were 1.23 lakh deaths registered in
Gujarat. In the corresponding period in 2020, there were
around 58,000 registered deaths. This suggests a large
increase in mortality in 2021. However, 2020 was also a
pandemic year, and the early days of the pandemic saw a very
harsh lockdown. This likely prevented or delayed many
deaths from being registered. Considering this, we compared
registered deaths in Gujarat in 2021 to estimates of baseline
mortality from previous years.

The Sample Registration System, a continuous demographic
survey, provides estimates of crude death rates in Gujarat
until 2018. For the period 2015-2018, mean crude death rates
were 6.075 deaths per 1,000. Taking Gujarat's projected
population in 2021, about 6.98 crore, we would expect about
82,500 deaths in a 71-day period. Using registered deaths
between 2015-2018 for this . The
1.23 lakh registered deaths in Gujarat during March 1-May 10,
2021 were thus 50% higher than expected from baseline

estimates. Moreover, the current COVID-19 wave may have
caused delays in registration — the scale of the mortality
surge could be even greater. Thus, in a little over two months,
there were at least 40,000 “excess deaths” over and above
what we expect from previous years’ data. This is around 10
times Gujarat’s official COVID-19 death count during this
period of around 4,200 deaths. The increase in excess
mortality mirrors the timing of the rise in recorded COVID-19
deaths, which rose sharply through most of April. This can be
seen in the graph of annualised crude death rates.
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But we cannot assume that all Gujarat’s excess deaths are
COVID-19 deaths. Some may reflect overwhelmed health-care
facilities or worsening economic conditions. In fact, there is
some evidence for possible indirect effects. The Divya Bhaskar
report documents that 20% of the deaths that were registered
were among people less than 25 years of age. This is an
increase in both absolute and relative terms compared to
2018, when about 15% of deaths were below the age of 25.
Because young people are less vulnerable to severe COVID-19,
and because child mortality is especially sensitive to
disruptions in health care, this suggests an increase in indirect
mortality.

Q51. Which of the following statements uphold the
miscalculation of devastation caused by pandemic?

(i) manipulations in the death reasons by some government
officials

(ii) unmentioned deaths on the death certificate by doctors
causes underestimation of death rate

(iii) Improper database management of the number of
persons infected by Covid-19

(a) Only (i)

(b) Only (ii)

(c) Only (i) and (ii)

(d) Only (iii) and (ii)

(e) All (i),(ii) and (iii)

Q52. Which of the following is the reason for an increase in
reported deaths this year?

(a) the healthcare system has collapsed which has made
hospitals inaccessible for other patients

(b) because civil registration has started reporting all deaths
irrespective of cause this year

(c) movements of people have increased due to ease in
lockdown which has caused an increase in cases

(d) All of these

(e) None of these

Q53. Which of the following statement is true as per the
information of death given in the passage?

(a) Registrar General and Census Commissioner are only
responsible for the unreliable data on the death caused by
pandemic

(b) Mortality rates from the civil registration system
highlights the unreliability of official statements.

(c) it is not obligatory for the civil registration system to
record all covid-19 deaths

(d) pandemic has caused less deaths during its breakout in the
country as compared to this year

(e) None of these

Q54. According to the passage, how pandemic has caused
many more unpropitious effects beyond direct effects?

(a) pandemic has unveiled the failure and inefficiency of
government system and planning

(b) failure in following covid protocols has lead to the risks of
lives of several frontline workers

(c) Only health industry has suffered huge losses due to strict
lockdown in the country

(d) there is a huge loss in economic activity and fall down in
healthcare system because of pandemic

(e) None of these

Q55. Select the word which is a synonym of the word
‘pertinent’ which is in bold in the passage?

(a) relevant

(b) reluctant

(c) drowsy

(d) nimble

(e) None of these

Q56. Which of the following given phrases will be fill in the
blank given in the passage?

(a) quarter show the great degree of

(b) reallocate the resources in states

(c) makes it favorable by putting efforts

(d) breaking all the records of pandemic

(e) calculation reveals a similar estimate

Directions (57-63): In the following passage there are
blanks, each of which has been numbered. These
numbers are printed below the passage and against each,
five pair of options are given. Find out the appropriate
pair of words which fits the blank appropriately without
changing the meaning.

Q57. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
peace process has been in (58) as the Washington-
desired conference to be hosted by the United Nations in
Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
impression of the Taliban (59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to
be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
parties. With the rising level of violence, (62) of
negotiating peace in Afghanistan seem bleak. Since the
announcement of an exit date, Afghanistan continues to
witness deadly attacks across its (63) . For
instance, multiple blasts outside a girls school in Kabul
recently was the worst terror attack in Afghanistan in a year.
(a) resolution, tactics

(b) mainstream, primary

(c) benign, oath

(d) agenda, objective

(e) acceptance, curious
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Q58. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
peace process has been in (58) as the Washington-
desired conference to be hosted by the United Nations in
Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
impression of the Taliban (59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to
be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
parties. With the rising level of violence, (62) of
negotiating peace in Afghanistan seem bleak. Since the
announcement of an exit date, Afghanistan continues to
witness deadly attacks across its (63) . For
instance, multiple blasts outside a girls school in Kabul
recently was the worst terror attack in Afghanistan in a year.
(a) cursory, chaos

(b) infiltrate, concerns

(c) disarray, limpid

(d) disturbance, lucid

(e) disarray, chaos

Q59. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
peace process has been in (58) as the Washington-
desired conference to be hosted by the United Nations in
Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
impression of the Taliban (59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to
be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
parties. With the rising level of violence, (62) of
negotiating peace in Afghanistan seem bleak. Since the
announcement of an exit date, Afghanistan continues to
witness deadly attacks across its (63) . For
instance, multiple blasts outside a girls school in Kabul
recently was the worst terror attack in Afghanistan in a year.

(a) reallocating, snubbing
(b) snubbing, humiliating
(c) ensuing, snubbing

(d) insurgent, negotiate

(e) humiliating, appreciating

Q60. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
peace process has been in (58) as the Washington-
desired conference to be hosted by the United Nations in
Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
impression of the Taliban (59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to
be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
parties. With the rising level of violence, (62) of
negotiating peace in Afghanistan seem bleak. Since the
announcement of an exit date, Afghanistan continues to
witness deadly attacks across its (63) . For
instance, multiple blasts outside a girls school in Kabul
recently was the worst terror attack in Afghanistan in a year.
(a) withdraw, retreat

(b) exile, degrade

(c) collaborate, unite

(d) retreat, exile

(e) rumor, dampen

Q61. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
peace process has been in (58) as the Washington-
desired conference to be hosted by the United Nations in
Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
impression of the Taliban (59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to
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be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
parties. With the rising level of violence, (62) of
negotiating peace in Afghanistan seem bleak. Since the
announcement of an exit date, Afghanistan continues to
witness deadly attacks across its (63) . For
instance, multiple blasts outside a girls school in Kabul
recently was the worst terror attack in Afghanistan in a year.
(a) conceived, warring

(b) adamant, liberal

(c) challenging, overwhelming

(d) warring, conflicting

(e) conceived, liberal

Q62. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
(58) as the Washington-
desired conference to be hosted by the United Nations in

peace process has been in

Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
(59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to

impression of the Taliban

be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
(62) of
negotiating peace in Afghanistan seem bleak. Since the

parties. With the rising level of violence,

announcement of an exit date, Afghanistan continues to
(63) . For
instance, multiple blasts outside a girls school in Kabul

witness deadly attacks across its

recently was the worst terror attack in Afghanistan in a year.
(a) profuse, locus

(b) inclusive, rebelling

(c) prospects, possibility

(d) rebelling, imaginary

(e) robust, prospects

Q63. In conflict resolution diplomacy involving multiple
stakeholders, sometimes the venue becomes as important as
the (57) of peace talks. The fragile Afghanistan
peace process has been in (58) as the Washington-
desired conference to be hosted by the United Nations in
Istanbul, Turkey — earlier scheduled for late April-early May
— remains suspended due to the reluctance of Afghan’s
Taliban. Turkey had to announce the postponement of talks
until the end of Ramzan. Now there is some hope of breaking
the impasse as the Taliban has expressed an openness to
attend the Istanbul summit with the rider that the final
outcome will be achieved in Doha. Although it gives an
impression of the Taliban (59) Turkey, the real
issue regarding Afghan peace, however, should be: ‘what’ is to
be done, and not ‘who’ does it or ‘how’ it is done. The Istanbul
conference is being calibrated by the Biden administration
with its plan to completely (60) from war-torn
Afghanistan. Rejecting the Pentagon’s preference for a
conditions-based exit, United States President Joe Biden is
insistent on withdrawing the troops on September 11, even
without any power-sharing deal between the (61)
parties. With the rising level of violence, (62) of
negotiating peace in Afghanistan seem bleak. Since the
announcement of an exit date, Afghanistan continues to
witness deadly attacks across its (63) . For
instance, multiple blasts outside a girls school in Kabul
recently was the worst terror attack in Afghanistan in a year.
(a) meagre, beacon

(b) provinces, territory

(c) territory, globally

(d) embezzlement, province

(e) beacon, rudimentary

Directions (64-70): Read the passage carefully and
answer the questions given below it.

The decision of the President of the United States, Joe Biden,
to support the India-South Africa proposal, seeking a waiver
of patent protection for technologies needed to combat and
contain COVID-19, comes as a shot in the arm for global
health. The proposal that was placed before the World Trade
Organisation (WTO) had been facing resistance from several
high income countries including the U.S. administration. A
change in the American position supporting a temporary
waiver could act as a catalyst for building consensus in
favour of that proposal when it come up for fresh
consideration at the WTO in June. However, the path ahead
is not clear. While France and Russia have declared support,
Germany has voiced its opposition.

Response to the proposal was divided during earlier debates
at the WTO. While many low and middle income countries
supported it, resistance came from the U.S, the United
Kingdom, the European Union, Switzerland, Australia and
Japan. A strange addition to this group was Norway, which
usually supports initiatives that promote global health equity.
On this occasion, it chose to shield patent rights. Since the
WTO operates on consensus rather than by voting, the
proposal did not advance despite drawing support of over 60
countries.
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Predictably, the pharmaceutical industry fiercely opposed it
and vigorously lobbied many governments. Right-wing
political groups in the high income countries sided with the
industry. Microsoft co-founder and billionaire Bill Gates was
strident in his opposition to patent waivers for vaccines,
justifiably drawing ire from the public health community for
a stance that was at great variance from his projected image
as a messiah of global health. It appeared that patent rights
would be doggedly defended even in the face of a devastating
pandemic. Many specious reasons were offered for such a
defence. It was argued that the capacity for producing
vaccines of assured quality and safety was limited to some
laboratories and that it would be hazardous to permit
manufacturers in low and middle income countries to play
with technologies they cannot handle. This smacks of
hypocrisy when pharmaceutical manufacturers have no
reservations about contracting industries in those countries
to manufacture their patent-protected vaccines for the global
market. The low labour costs in those countries are obviously
so attractive that confidence in the quality and the safety of
their products is high, so long as patents and profits are
protected.

This amazing duplicity has been seen for years when
multinational firms have subcontracted manufacture of
patented products to industries with low production costs in
developing countries. This has been true of pharmaceutical
products, as it has been of branded consumer products and
luxury goods. This fig leaf has to drop, at least in a pandemic.
The counter to patent waiver is an offer to license
manufacturers in developing countries, while retaining
patent rights. This restricts the opportunity for production to
a chosen few. The terms of those agreements are opaque and
offer no assurance of equity in access to the products at
affordable prices, either to the country of manufacture or to
other developing countries.

Q64. What does the author mean by “the path ahead is not
clear” in the first paragraph?

(a) waiver in patent protection is not the solution to combat
an outbreak of new mutant of Covid-19

(b) developed countries are more concerned about the patent
rights of their discovery of the Covid-19 vaccine

(c) although the US president is in favor of the waiver of
patent protection of technologies, many countries are still
againstit

(d) countries with developed technologies are seeking
compensation for sharing their developed technologies

(e) None of these

Q65. Which of the following is the reason for calling off the
waiver of patent protection of technologies?

(a) breakout of Covid-19 last year had impacted international
relations among countries which have cause international
disagreement

(b) countries opposing the proposal of waiver exceeded the
number of countries which were favoring

(c) there were many drawbacks of the proposal and each
country was against it due to security reasons

(d) there was a lack of harmony among all the members of
WTO

(e) None of these

Q66. Which of the following is the meaning of the given
phrase ‘shot in the arm’ in the passage?

(a) the US trying to be supreme power during a pandemic by
approving the given proposal

(b) the situation is worsening day by day and there is an
increasing possibility of world war

(c) only a few countries will get the benefit from the proposal
offered by India-South Africa.

(d) US support on the waiver of patent protection for
technologies will help in prompting global health

(e) None of these

Q67. Which of the following reasons is provided by the
industries for their repudiation of waiver?

(a) industries are not confident about the production of
vaccines in developing countries as they are not capable
enough to use the resources optimally

(b) industries were getting huge support from their
governments and were unwilling to allocate technologies for
free

(c) developing countries can misuse the vaccines to harm the
resources of the country

(d) All of these

(e) None of these

Q68. Which of the following statements is/are incorrect with
reference to the paragraph?

(i) labor cost is cheaper in developing countries

(ii)licensing is an alternative of giving waiver on patent
protection of technologies

(iii)the population of US was supporting the India-South
African proposal

(a) only (i) and (ii)

(b) only (ii) and (iii)

(c) only (iii)

(d) All (i), (ii) and (iii)

Q69. There is a highlighted sentence in the passage which
may or may not have grammatical error. Mark the part of the
sentence which has grammatical error?

(a) A change in the American position supporting

(b) a temporary waiver could act as a catalyst for

(c) building consensus in favour of that proposal

(d) when it come up for fresh consideration at the WTO in
June

(e) No error

Q70. In the above passage, there are few words highlighted
which may or may not be contextually and grammatically
correct. If there is an incorrect word, find out which word it
is?

(a) resistance

(b) fiercely

(c) specious

(d) confidence

(e) All are correct

9 I www.bankersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Directions (71-75): In the following question there are
two statements in each question. Each sentence has two
highlighted words which may or may not be contextually
and grammatically incorrect. Find the correct
combination(s) of words which must be interchanged to
make both the sentences grammatically and contextually
correct.

Q71. (I) As State governments have begun implementing (A)
weekend curfews and lockdown-like conditions amid the
second wave of COVID, there is another issue that is
consequences (B)

(II) The second wave of COVID-19 has shown us the emerging
(C) of not preparing in advance (D)

(a) Only (A)-(C)

(b) Only (B)-(C)

(c) BOTH (A)-(D) and (B)-(C)

(d) Only (A)-(C)

(e) No correction required

Q72. (I) A change of guard in Puducherry, where governance
and development took a backseat from mid-2016 due to
continuing fanned (A) between the elected government and
Raj Nivas, ushers (B) in hope for its people.

(II) Communal polarisation in the State friction (C) by the
acrimonious debate on the Citizenship (Amendment) Act has
been further reinforced (D) in the outcome.

(a) Both (A)-(D) and (B)-(C)

(b) Only (A)-(C)

(c) Only (A)-(D)

(d) only (B)-(D)

(e) No correction required

Q73. (I) The pandemic’s second wave has spread far
potential (A) the worst-hit cities, with almost half the new
cases being surging (B) from rural districts

(II) India’s sovereign rating will remain unchanged at the
current level of BBB- for the next two years despite the
beyond (C) adverse impact of the reported (D) pandemic on
its economy

(a) Both (A)-(C) and (B)-(D)

(b) only (A)-(C)

(c) Only (A)-(D)

(d) only (B)-(D)

(e) No correction required

Q74. () IT markets are provisions (A) up to such a degree
that both the U.S. and Europe are running out of critical skills,
and with this, offshore and Indian alternatives (B) are
increasingly becoming attractive for tech buyers

(I1) India and South Africa had proposed a waiver (C) for all
World Trade Organization (WTO) members on the
implementation of certain picking (D) of the agreement in
relation to the prevention, containment or treatment of
COVID-19

(a) Both (A)-(D)

(b) only (A)-(C)

(c) Only (A)-(D)

(d) only (B)-(D) and (A)-(C)

(e) No correction required

Q75. (I) While Bengaluru’s less-than-adequate public medical
infrastructure is under severe stress with an exponential (A)
rise in cases, an alleged scam in the South Zone has also raised
questions on the integrity (B) of the bed allocation system in
the city.

(IT) The Constitution was conceived (C) by India’s founding
fathers as a beacon of fundamental rights, leading once
enslaved (D) Indians to the promised land of life and
freedom.

(a) only (B)-(D)

(b) only (A)-(D) and (B) - (C)

(c) Only (A)-(D)

(d) Both (A)-(C) and (B)-(D)

(e) No correction required

Directions (76-80): In the questions given below, few
sentences are given which are grammatically correct and
meaningful. Connect them by the word given below the
statements in the best possible way without changing the
intended meaning. Choose the best possible combination
as your answer accordingly from the options to form a
correct, coherent sentence.

Q76. Column (I)

(A) Norestrictions shall be imposed on oxygen manufacturers
(B) Sean had no reason to take a taxi

(C) We neither want to show eyes to anyone

Column (II)

(D) do we accept anyone raise eyes at us

(E) his flat was near enough to walk to.

(F) suppliers to limit supplies only to the hospitals of the
State/UT in which they are located

(i)since

(i) and

(iii)nor

() (A)-(i) -(E)

(b) (A)-(ii)- (F), (B)-(1) -(E) and (C)-(iii)-(D)

(c) (A)-(ii) -(F) and (C)-(iii) -(D)

(d) (€)-(1) -(D) and (B)-(ii) -(F)

(e) None of these

Q77.COLUMN (I)

(A) Announcing the decision during a televised broadcast
(B) State leadership should be changed

(C) Commodity traders harvest billions

COLUMN (II)

(D) party won’t be able to survive for long

(E) with a demand for reconsideration of the vaccination
strategy

(F)price rise for everyone else

(i) likewise

(ii)otherwise

(iii)while

(a) (A)-(i) -(E)

(b) (B)-(iii)- (F) and (A)-(ii) -(D)

(c) (A)-(ii) -(E) and (B)-(i) -(D)

(d) (€)-(iii) -(F) and (B)-(ii) -(D)

(e) None of these
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Q78. Column (I)

(A) Virat Kohli has not won any ICC title
(B) US Covid cases hit new plateau

(C) At the receiving end of much criticism over vaccine
Column (II)

(D) delta variant rises in country

(E) has he won the IPL

(F) to deal with the disease

()and

(ii)neither

(iii)as

(a) (A)-(ii)-(E) and (B)-(iii)- (D)

(b) (A)-(1)-(D) and (C)-(iii)-(F)

(c) (€)-(1)-(D) and (B)-(ii)-(F)

(d) (B)-(iii)- (F) and (A)-(ii)-(D)

(e) None of these

Q79. Column (I)

(A) I have often been told that the stubble suits me

(B) Supreme Court won't allow class 12th exams

(C) the proposal to exempt passengers who have received
both doses

Column (II)

(D) I am happy sporting it every now and then

(E) require all incoming passengers to have a negative RT-
PCR test

(F)sure of no fatality due to Covid

()unless

(ii)so

(iii)unlike

(a) (A)-(ii)-(D) and (B)-(i)-(F)

(b) (©)-(iii)-(F) and (A)-(ii)-(E)

(c) (B)-(iii)- (D) and (C)-(ii)-(F)

(d) (A)-(1)-(D)

(e) None of these

Q80. Column (I)

(A) Itis a welcome move which will boost travel

(B) Sanitiser dispensers and markers for social distancing
were in place

(C) The passenger journeys performed on Monday was in
view of

Column (II)

(D) shopkeepers raised shutters with a hope to make their
first sale after a long spell of no income.

(E) drastically reduced capacity owing to adherence to
guidelines issued by the government

(F) will also inspire more people to get vaccinated
()whereas

(ii)as

(iii)therefore

(a) (A)-(i) -(F) and (E)-(ii) -(F)

(b) (B)-(ii) -(D)

(c) (C)-(iif)- (F) and (B)-(ii) -(D)

(d) (A)-(ii) -(D)

(e) None of these

Directions (81-85): In each of the following statements,
there are some highlighted phrases which may or may
contain a grammatical error. Find out which highlighted
phase in both the statements have errors. If there is no
error, choose ‘no error’ as your answer.

Q81. (A) After a long and painful month (i)-and-a-half,
confirmed cases of COVID-19 in India have declining (ii)
steadily for more than a month.

(B) A good monsoon could aid agriculture which has been
between (iii) the few bright spots in the (iv) Indian
economy.

(a) (1) and (iii)

(b) (iii) and (iv)

(c) (ii) and (iii)

(d) (i) and (iv)

(e) No error

Q82. (A) The Union Education Ministry has been attempting
to get (i) States into a competitive mode in upgrading its
school education (ii) system by recognising progress with a
Performance Grading Index (PGI) that assigns them a score
(B) The Centre, with its transparent scores and data (iii)
for each parameter and sub-topic made available in the public
domain, seek to create a resource-sharing system (iv) that
low-performing States can tap into.

(a) Only (i)

(b) (ii) and (iv)

(c) Only (iv)

(d) (i) and (iv)

(e) No error

Q83. (A) Government expenditure on hospitals dealing
mental health (i) issues as a percentage of total government
expenditure on mental health is 1.3% in India; in developed
countries, it ranges from (ii) 3% to 15%

(B) For all the criticism China has heaped on the Quad’s
members for trying to create an exclusive (iii) clique, it will
be Beijing who is likely to demand clear-cut (iv) foreign
policy choices from its regional interlocutors.

(a) only (i) and (iv)

(b) (ii) and (iv)

(c) only (iii)

(d) (iii) and (iv)

(e) no error
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Q84. (A) Apart from the three contentious (i) Central farm
laws, procurement and agricultural market price-related
failures have contributed to a fivefold increase in major (ii)
farmers’ protests since 2017

(B) Draft Rules for live-streaming and recording court
proceedings propose a 10-minute delay (iii) in
transmission and exclusion of communally sensitive (iv)
cases and matters that involve sexual offences and gender
violence against women

(a) only (i) and (iv)

(b) (ii) and (iv)

(c) only (iii)

(d) (iii) and (iv)

(e) no error

Q85. (A) The Government was experiencing extremely (i)
difficulty in procuring construction (ii) materials.

(B) The valuable inputs and suggestions received(iii)
during the consultations was analysed using the (iv) three
aforementioned criteria, by the Prime Minster and other
Cabinet Ministers and senior officers of the country

(a) (i) and (iii)

(b) (iii) and (iv)

(c) (ii) and (iii)

(d) (i) and (iv)

(e) No error

Directions (86-90): In each of the following sentence,
there are three blanks. Below each sentence, there are
five options and each option consists of three words
which fit the blanks respectively to make the sentence
grammatically and contextually correct. Find the most
appropriate set of words that fit into the blanks.

Q86.A
has exposed

of high-profile cyberattacks in recent months

in the critical infrastructure of even
nations

(a) paradigm, originated, ethicists

(b) synthetic, concern, accessible

(c) string, vulnerabilities, advanced

(d) sword, associates, wider

(e) None of these

Q87. The new Budget announced that the government will
a high power commission to and
the education system of the State.

(a) appoint, examine, reorganize

(b) potential, protocol, enhance

(c) remand, vehemently, intrusive

(d) declare, report, colluded

(e) None of these

Q88. To ensure an recovery, the government

needs to targeted, demand-creating fiscal
support measures and drastically the pace of
vaccinations.

(a) engross, mining, expedite
(b) abiding, expedite, quicken
(c) intent, conserve, requisite
(d) lucid, inspect, hard

(e) None of these

Q89. Over 17 months after WHO first reported a

of cases of pneumonia of unknown cause in Wuhan, China,
scientists are yet to with certainty how the SARS-
CoV-2 virus

(a) commence, mitigate, brave

(b) insights, veritable, report

(c) annual, concurrent, analysis

(d) cluster, determine, emerged

(e) None of these

Q90. The of nation states and
global security arrangements were insufficient in
with the crisis.

(a) production, dilemma, cope

(b) preparedness, tenuous, dealing

(c) shillings, edifice, considerations

(d) populist, delegitimize, repeal

(e) None of these

Directions (91-96): TS =T¢ 9= FAf44T (A, B, C, D ST E) &
FHATRAL sl HEAT FT FTTT AT IATAT & AT T ITF FoT
=T H H =9 974 (A, B, C, D 3T E) FAFAT § T HHATRAT 0l
HEAT T AT Hqor 29T g1 {2 0 sret 1 e | afz e
s fRmferfera weat & s s

Tqre: 1. AT B § FHATRAT T T TEAT & S 7 (< 42 g
2. AT TR FHATRAT 6T T, G HIT § FoT FHATAT FT
800/21% g

HA NE mC mD mE
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35

30 -
5 —
20 -

15

10 H
i} - - -

A B C D E

wn

Q91. B 3T CH [T T29 FHATRAT il Tef H&dT %7 B H qigar
FHATAT T T AT F AT ATT HITT

(a) 45: 19

(b) 20: 9

(c)30:11

(d)7:5

(e)11:9

Q92. Ifg Fut X H, FHATRAT AT FT H&AT FAAT E AT o1 |
75% SATE g S T2 T AigAT FHATAT & AT 9:5 8, AT E
T X H FHEHATRAT F7 AT F&AT 7 FiorT)

(a) 92

(b) 82

(c)78

(d) 74

(e) 88

Q93. A ® HigAT FHATRAT &l FT T&AT TH FI+T H T2
FHATAT T T AT F Tohaar Sfaera stfa 872

(a) 52.5%

(b) 64.5%

(c) 61.5%

(d) 62.5%

(e) 67.5%

Q94. C H FHATHAT T T HEAT & o0 T FHI0T AT HIforT)
(a) 93.6°
(b) 79.2°
() 96.6°
(d) 54.8°
(e) 84.5°

Q95. IfT A ST C H FHATRAT &l FoT H&AT T FAA: 20% AT
50% ®TARTE & T9T A 3T C | 3% AfgAT |ahaT FHATT
FHT: 18 31T 84 &, AT AT HUAT 6 T ATAHIAL [T FHAT
T )

(a) 98

(b) 122

(c) 108

(d) 126

(e) 102

Q96. D & T=UT T FT AT ST WIGeAT FHATAT il Tl HEAT
&= =7 3 s o)

(a) 10

(b) 50

(c) 20

(d) 40

(e) 30

Q97. A, B 3T C ¥ U =Ha€TT ¢[F AT 3T CF A | 4000 =94
srfare T Aerer foFaT, STafs B 7 24000 =93 &7 fA=er fF=m B
T AEM % 978 HFaTT 1 337 3 /1 7giAi § A 3fT CF a1
50 &7 o1 91T 2 :3 81 A< T @19 14000 F9F &, TT B 5T ATH
i1 2w AT )

(a) 3600 %

(b) 4000 &

(c) 4400 =

(d) 3200%

(e) 4800 %

Q98. TF IHTHTT ad il FATS, ¥ =rogr 779 14 e 3w 7
H1ex 1 SAATHIT A o FTEE SAFA I ST B AT FI2 T
FHAT B, AT TH T sl F AR AT FIOT AT FOS FT ATTT
2 & i e =t 32

(a) 1540 =.

(b) 770 =.

(c) 1105 =.

(d) 1100 .

(e) 550 %

Q99. T Y Ugd, A ¥ AT FT IHeh AT T ST 2:5 T T
A e a1z AFT S 32 A B0 ST A At Y FdET oy, 3E
TOr T T FqqT g |/ 20% ATAF 8, T &7 a9 a7 39 19T 3
AT T A FHT T AT A0

(a) 157 a9

(b) 147 T

(c) 143 T

(d) 141 =%

(e) 149 o

Q100. 37 A #1 @41 B & 25% &7 g TIT o A 3T B #ir i
Fer: 81 farwi/ereT 3w 108 forefi/sieT 81 afe T 2+ faodia fRem
H I &, AT 8 Fehe H Uk AL &l I Fdl 8l UH of f@or §
FAd gU, AT o TH-GAY FH T FA § O ATAT 97 1
oo

(a) 48 T

(b) 56 T

(c) 44 FFE

(d) 42 5=

(e) 40 T
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Q101. TF F&q &I 1000 T & T= T¥ ATord ATH IHT T Fl
880 ®U¥ H a9 UT TU BT % AU gl ATH AT g Tfaera
(FIRTST) 9T BT, AT Uy 39 &0 10% e IS4 STl & 37
AT T AT 20% & T AAT SATAT g1 TAF awq 6 H LT T 3{tha
T | 91T 47:53 872

(a) 10%

(b) 14%

() 7%

(d) 4%

(e) =8 | TS 7ol

Q102. 1 AT o1t 7 Tl & & g1 el o0l ATATHAT Fg A2
TTT | & g, ST e A=t & 20 et it adrer § S0 A &
T 1/19 s ot g1t fE=mefT 16 wof % 981 Sa¥ aar g, av
Te-fAfera wot &7 |8t e A7 ATawaw TTEwaT [ i)

(a) 4/5

(b) 3/4

(c) 11/20

(d)7/10

(e) 1/4

Q103. TF AT 74T A § &7 & Tiaga 20 T, 5 5 § T Feadl
g, STETh dgt A1, 74r B § 9T & oTq%o 80 T, 8 5 & a7
FAT g TS TET A F €T T 7T 7 74T B H €77 % 1 & a1
2:1 8, T AT AH &1 % eIqget 100 et it T a7 #i3d o J81
qma (Fe ®) g forar = a9 A1 )

(a) 10

(b) 8

(9

(d) 25/3

(e)6 %

Q104.30% T & =T & 'n' ATeX FT 60% F& & =TI & 40 +flex
F 9T AT 74T 8 ST 50% T8 FT A1 S9d7 g1 7 '3n’ Al
m% T4 % =1 FT 50% & % = H1 30 A2 # HeAraw 1w §
Sroeh TROTTHEasT 45% T FT A0 a9dT gl m : n FH AT
ST T

(a)17:6

(b)16: 15

(c)7:15

(d)14:5

(e)17:8

Q105. TF =Teh, AAAT Fel HITAF AT T 30%, FD H &= Fear
&, T T 10% T T &7 aq7 &, AT & 100/9% 0 02 7=
FIAT gl Tfx SATE AUAT 90 ST F @ 6 o= AT AT F
T =7 T fFariorg At g o FD 7 =1fp g @+ i w2 fer
Y o @9 | @H AT T LT F AF AT AT 2160 F4H €, ATl
iR ¥ [T o (% H) AT Forw)

(a) 108000

(b) 105000

() 96000

(d) 84000

(e) 120000

Q106. TF ITITE T 7T ToF X FTF & 3T FHIARTE 7 TEh! Hrad
Y% sifora i1 & i fe 39 a¥ 2% it ge &, o a=q &1 faww
T X 99 g1 SATT AFS Z FT IRET, Y F F0E 8, 1 Z FT A A1
ENIEL
(a) 25
(b) 40
(c) 20
(d) 50
(e) 100

Directions (107-111): 5= & 7T AT g STAT-TAT FHicrsTi
g forfeaa oiear S e ater F =it & sfaea BHaer
T FATAT 8, ATT BT T B HiorSll F IUT TELHEAT F ATATEHRC |
I S AT Fot (AITrit T Sfaerd faraeor i Zoriar 2|
() TheT & forfad o #7372 a1 g G =
2000

(I et Tt D= U g1 9LreT &1 ArATeRte I 36T =
1000

(111) wfear & forfea o & SOl 3 arer & ST 99T &

TATATEHRTE H AT of Tohd 2

ictsT fafea o s w07 | g SY W
ard g9 faeniar | o 39 fenEEr &
gidera a9 widea faaar

A 15% 20%

B 22.50% 19%

c 10% 13%

D 20% 9%

D 12.5% 10%

F 20% 29%

Q107. A 3T C ¥ T HTT ATATERTT | I 219 aTer fa=rmrfan
T T HEAT T A 37 C | T forfera adrer St 7 F2 arer
=Tt it et TedT / ST A1 i (T8 R mar g A
T CH TEeT § T o a1t oA fer=miT Fwer: 400 37 300 % )
a)5:8

Eb%8:15

(c)17:20

(d)17:25

(e) =T & FIE ol

Q108. D, E 3fi¥ B & THATHT ATATRIE Tt < arer faarfaai &
T TEAT, T g Fierot! o e forfrd et 3ol #e arer
Tt &t et T w1 fohaeT staerd g7

(a) 35%

(b) 36%

(c)30%

(d) 37.5%

(e) 40%

Q109. F & ATATHIT | ITAIT T I AT ASTHAT T ASHI o
AT 6:5 7 ST C & ATATHT | I 7 g1 ATAT ASTRAT T
TR AU 4:3 5| F 3T C FT AT ATeATw T 3007 At
FIA ATAT ASTRAT 6T T §&A>T, C 3T F F e aramenr
IO AT A AT ASHI Al Fod FEAT & [T TTTTT 67
a)6:5

%b%3:2

(c)4:3

(d)5:3

(e)%ﬂﬁ@fﬁ?ﬁ
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Q110. =fT A, D #ii¥ F & us g7y forfera aveqr S<ot s aref
AR ATATHTT | AR Al o arer o=ty 7 g dwear &7
15% %, @1 A, D 3i¥ F & AT 9rearente | S0 A51 g arer
e £ gt " sra Hifom)

(a) 345

(b) 350

(c) 360

(d) 355

(e) 365

Q111. 7f2 B 3T D & T&m § T o ater fa=rtsat iy e
FHET: 500 3T 750 g, A7 B 3f¥ D & forfera advear 3<hof agi &t
e st %7 39, A 3T E | ARt ST e ATl

ety o siraa & frawT siaera stferss a1 w7 872
(a) 30%

(b) 33¥%3%

(A)37% %

(d)27 %%

(e) 25%

Directions (112-115):ﬁﬁmﬁ¢%¢ﬁﬁ'ﬂﬁlﬁﬁ
T % IAL SATAIAS SIor0)

'ADDA247' § T 200 FHATL & ST 1T AT FHlthl AT AT THE
AIZATSA T T T&AT FT 1/3 § T Fa AT THE FLA ATAT
HAIZATU T T2 FHATAL 0l FEAT & J0ET gl AT AT Hihl
FAT T THATHRT THE FTA ATAT AT FHATAL T HEAT, Hael
FTT THT FIA AT [EUT 6T &I F 40% ATIF 81 FaT HIHT
T HEAT & TR g1 AT 37T HI6T IAT T (HATHT T2 HHATAT
FT HEAT, Al AT THE FLA ATAT HIgeATsH 7 el 8

Q112. Faw AT THE FIA aTf [EUT AT F&AT T AT &l
AT THE FTA ATAT FHATAT 20T Tl TEAT & S04 FdT AT
ENIELY
(a) 20
(b) 30
(c)10
(d) 25
(e) 15

Q113. Fa ATT THE FIA FTAT HIZATSAT T TEAT AT FIToIT|
(a) 25
(b) 35
(c) 30
(d) 20
(e) 40

Q114. FaF AT THE FLA ATeAT AIGATH %l HEAT ST FaeT HIHT
THE LA ATAT HgeATal il HEAT & A= A AT hiory|

(a) 15

(b) 10

(c) 20

s

(e) 25

Q115. FTHhT THT FI qTel & T FEAT ATT AT
(a) 50
(b) 40
(c) 55
(d) 45
(e) 60

Directions (116-120): ATfersT SBI 9% #iT T19 AT-3Te1T
arTETeAt | FEverT Eor 3 orT siaaw T AT Saahi i gt TEAT,
T AT ATETH H TR AEEHT T A9 T T & forg T
ITT T TEOT AT TIEATSH T AT F90Td T 21 A= &F T qrferhr
FT regae FIfow =i ffw o e & s ffsm

e T AATH = T TRT AAGH + T TT AASF

sTTET T AEEH T AEEE FT% = FH O g T
T TENT T AT
EERIG

A 1000 40% 11:9

B - 509% -

C 800 1:2

AVE: F AT F 81 STTHRT 7 A1 T T0HT 301 H 2 70 stist
*F AIET FAT Bl

Q116. IfT 9IT@T B 3fi¥ C & FT a7 Tiaad T 8, ar
9TTET A 3% C & T &S| 1 AHT HEdT ST Fior0)

(a) 400

(b) 360

(c) 440

(d) 450

(e) 500

Q117. amaT A & fereqr vy % for fohae & o 910 10 82
(a) 210
(b) 180
(c) 220
(d) 275
(e) 200

Q118. 9ITET B H T =T SATGEh! #hl HEAT AT hi o1, AT 9T
B & Tl STAa, 1T C | I ¢ ¥ 9@l B 7 K07 & forw I
TET T AgaATsl & FqaTd 29:11 82

(a) 520

(b) 640

(c) 580

(d) 440

(e) 560

Q119. 7T o@T C & 30% T AETH 8, Al AT A F 42T
ST T T C & AT-TWT SAEEHT § AT FT &2

(@)5:4

(b)5:2

(©)5:3

(d)3:4

(e)15:14
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Q120. 7= 9rm@T B & 200 =W ¥ 100 g fore ko7 3 forg
T g, JT ATET B & AT T e HEAT AT I

(a) 300

(b) 400

(c) 500

(d) 600

(e) 700

Directions (121-125): {27 70 weit #, 27 9110 &% 1% €, U
AT I' 3T AL 9T I 3% ©9 H| AT Fa T &l qArAmsi 6
Fr= ey Fytia w7 & (B oft =61 o= e 9= #:9)
Y S Tashed &1 =4 FIAT &

Q121. 9TATI: 20 T&Y U %14 & 15 &A1 § 71 T 9t g1 F1d
gF 2 5 {3 arg, F= =afw S ad g1 A A9 F AT TH
T 16% &t & 927 3T StTar 8, a1 1 0= g1 % 5 faei &
a1z fraw et 9 F1 g faem

ATAT I1: TF FTL AT 5 @7 3 UF a9 F1¢ T 40 FeT 3w off
T 20 FHT F T8 A, T F 60 HieT o7 AT 7fT a9 &t i 38
Tret/eeT g, a7 1 i It w7 1/7a7 A (R afe =@ /) /19
Ffom

(a) AT [ > 9T 11

(b) WT=T [ < ATAT I

CUEIEIRERIEIR!

(d) AT [ < HTAT I

(€) |TAT I = |TAT 11 IT IS Heel Al

Q122. /TAAT [: U THI07 & AT 3 ITT T ST 5:181 5 e
Tt T O, ATSA FT AT " AT 5:2 g7 4T gl e 7
T Y 97T (Ffe 7) B

HTAT I1: TF AR 10 5 § 1T & Tiaga 30 AT i 8T &
AT 44 T AT T T T AT 81 T AT A9 § 6 Faw g
F WiaEer 40 T ST &mer & s@e 55 fFeT 13 9 & 9% #ar
g1 g 71 § =f=R Y i F1a hrforw (Rt st =er ®@)1

(a) AT I > 97T 1

(b) FTAT [ < /AT 11

(c) FTAT 1 2 /AT 11

(d) =T [ < AT I

(e) WTAT [ = |TAT I AT TS Tael Al

Q123. HTAT L. T T ST Ti=AT, 600 T T T 9 a=d7
g1 AT, IH FALT: 10% 3T 5% T a7 HHF ge aF & (o0
ST T STTaT 81 ST, 9 UTe & & Taeh! 97 97 Be aret
T % 5% ¥ farsht 7 aeqe e g1 Uy &1 afe gt ade F forn
T UTEH Tl SIAL HI oh el hIHd HT G HAT T2aT 2l
ATATIL: 1075 %.

CIRIEINERIEIN!

(b) =T I < ATATII

(c) WT=T I 2 /=T I

(d) W= [ < AT I

(e) WTAT I = |TAT [1 AT TS Taer At

Q124. AT I: Ffz T F91 3 sfer § 300% T i it STt &
A 77 # 100% F1 7fE Fit sreft &1 ot frer 12 &r smar 21
e T3 7 o)

AT I1: UF o | 12 AT, 6 340 37 'x' Fiefy % &) afe sy o
H UF gL g FT AT 6T ATAHRAT 2/9 B, AT TF AT HT FAT 60
TERAT AT ST, ST A7 a1 7rer A1 feft F FAHAT )

(a) AT I > AT I

(b) AT I < WTAT 11

CREIEIRERIEIR!

(d) 9T [ < /AT 10

(€) ATAT I = |TAT 11 IT Fs Hae Aot

Q125. 97T [: T | HIAT it 31, IHeh! TAT %0l 3T 7 375
AT 81 T & 1 qU a1, FI47 37 IEhT AT T 0 A7 a1
FHET: 10:3 FIIT| FIAT T AAHTT A0 FAT 57

HEAT I1: 4 F9 9 T3 T 0 &1 [T 6T o & 91T 5:6 T,
STafeh TiehT T FAFTT S & AT 6 a9 o | A9 5:4
g1 AfE 2 99 g78 T3 ST TAhT it 3 7 AR 63 T GO, AT AT
o)y T adae oy S1d o)

(a) BT I > AT I

(b) #T=T [ < ATAT 11

CRIEIRERIEIR!

(d) |T=T [ < HTAAT 01

(€) |TAT I = |TAT 11 IT IS Tae Aot

Directions (126-130): <= {0 Wi § Ua 757 377 21 9= Hed7
1 3 I foU 910 81 swent g et #3ar § & #19 av/F 99
T5T T IAL & o [oIT TATH/AEFTTF /2|

Q126. 2 &t i fora=t 272

L. 3 U WIEHT T 30 FehE H T FT Ao § ST U U M
12 e | qT¥ FT ThdT 2l

1. SIHTH T AFTE, I i TS T 50% ATEF g

(a) Fae FI [ 99718 g

(b) IT AT FAT [ AT 11 7T g

(c) FT T e oft 3¢ 39 F forg v=ig 981 €

(d) Fae FAT [ TATH B

(e) TT FI9 AT I a7 F oI e d= g

Q127. T 3T T o Frsor 7 Fer T wraAT fohaett 2

I 7f3 10 Ffrex fraor e fRam smar & v o, o sy i
FA TTAT FT 35% BT SI1aT &

IL Ffe smefoe freor § 30 <fex 91t foemT Smar 8 av g9 i
HTAT I T /AT % S0 gl STt gl

(a) Fae FI 11 93718 g

(b) IT AT FAT [T [1 717 8

() FT T FoeTehe oY 392 a7 & o w48l §

(d) ¥ FIT [ TITH §

(e) TT FI= AT 3T & & forw sraegs g
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Q128. 377 & fara{t ¥ 2 491 | Faer fie wahte 3 0 i A g
1. 7T =T T AT AT & ST 42 5 B THS T 6T AT T HeT,
AT AT T St F T AT g

11 ST & 2 ST At &7 F4 FL ok qLh1 T G&aT 10 2l
OEEEERERIERIL: RS

(b) TT JT FAT AT LI AT &

() T Fore FeTaRT ff 392 39 % forw ooty 981 8

O EEEERERRPIt:E

(e) T Fa THATHT 3T 3 o forT e s &

Q129. o= ¥ | 91T C AT 5 &l W Tl 7

[.9T2T A 3T B UHHATT F &l 4 H¢ § 9 g S 4157 A, B 3T
C THHETT 3 T 35§ w2d &1 a9t yaforwT areT 8

I1. 9757 A ZTRT 3Tohel T o &l 93 § fordm 1 /797, 9127 A
¥ B 1T UHATT & &l TId: 93 | 70 3 997 % a27a7 g
(a) Faet FI7 11 73718 &

(b) 3T T F= 13T [1 9477 &

(c) TAT FA [T off IA¥ a7 & o w98l |

(d) e A= 1 9ATH T

(e) T Foe THATRY 3T o o forw sraewre 8

Q130. T FT HFHA ThadT 872

I 1 & Ta=oT T TS, I F SAFA 6 ATH & qa7 gl
1L 37 5 B amer g7 &7 &6 154 39 1. 21

(a) Fae FA [ 9319 &

(b) =T T FAF 14T [ 37T &

(c) TAT Fa T off I a7 & g T 98y
(d) Fas FAF [ T g

(e) T o THeTehY 3T o o forw srarewe &

Directions (131-135): f=ferfaa dear @ § o d@ear

ST o

Q131.8,10, 20, 70, 320, 1570, 7830
(a) 7830

(b) 10

(c)8

(d) 320

(e) 1570

Q132. 260, 380, 510, 618, 759, 856, 1008
(a) 759

(b) 1008

(c) 260

(d) 510

(e) 618

Q133. 36, 80, 166, 340, 690, 1392, 2798
(a) 690

(b) 36

(c) 340

(d) 1392

(e) 80

Q134.15.5,17, 36,117, 480, 2424, 14592
(a) 36

(b) 17

(c)117

(d) 2424

(e) 14592

Q135. 388, 2112, 2212, 2724, 2760, 2824, 2828
(a) 2212

(b) 2760

(c) 388

(d) 2112

(e) 2824

Directions (136-140): 32T T &4 & T2 [T T F I
Ao

T FAAFT A, B #liT C g 9T AH f T&7 FHAT 50 &1 BH
AIGAT FHATAT HT FoT HE&AT, A H 2T FHATAT Hl e &A1
T 60% ATEF § ¥ CH AiZAT FHATAT 1 Fr §&AT, B H Afger
FHATRAL &1 FoT TLAT T 25% FF | TAT HIAT § T FHATH
= (F1 [0 FHATL + T AT FHATEY)

(i) FOT A | TET FHATL & =99 =l IT3aar 5/12 2

(i) ST&r AT FIRAT H F U [T FHATL HT 999 AT 7T 3,
T I HOHT B AT FAAT C & ZIA hT TTaT 14/19 )

(iii) FOT B & & FHATL & 9T sl ATIAHAT, Fa1 C T T2
FHATL o T T TTIAHRAT % F7a€ gl

Q136. FT A H HIZAT FHATIAT T Tl HEAT AT o7
(a) 40
(b) 90
(c) 80
(d) 60
(e)70

Q137.FuT B | Fef T2T ¥ AigaT FHATRAT F S aq< A1
EnEl

(@) 0

(b) 10

(@5

(d) 20

(e) 15

Q138. C H T T=W, B # WigaT FHATRAT T Tt T&aT | foha
Fiererd w7 2

(@) 5%

(b) 10%

(c) 15%

(d) 20%

(e) 25%

Q139. FHT C H e &0 FHAT &7
(a) 60
(b) 50
()70
(d) 80
(e) 90
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Q140. B & F FHATAT T HEAT FAT A F FHATRAT 7 oy
sfarerd srfers 87

() 16%:%

(b)37 %%

(c) 25%

(d) 33%%

(e) TAY T T&pf

Directions (141-145): Fofed STAFHTRT FT £a9IEF 98 3T
Rrerferfera i & e d)

oS =ARE A, B, C, D, E, F, G, 37T H 39 el ATl Us AT 7T
F AT AT =7 THE 95 ¢ T =F12 =1f~F ¥ F oiaw v 9w =i
FF F AT Al AN I g AT ALTF Tl 1% SH FF | &l
T F 31 di¢ gt g ot = e gt aga #
AT ST, AT, 1€, T, TqAGH, E-91E, TATSI ST FaAT ATehe STl
Tl =€ T H 2N

g AT ST &1-91¢ 9gAaT g, B & a4 & 16 T+ 9 937 81 C,
TATSIT 2T & 31 G FT (Ashed® TETHT g1 €T Tga+ araT A Th
D % I & AT TT9 9 54T g1 B €T Tga aTel o 70 & 16
T U S5dT gl FAT Tgad aTAT Ak AT TgA AT HT
Aercad T=HT 951 21 A, 9 a1ET 992 8, G 39 § Ui=e w1
U T3 8, ST ATgL il 3T 3749 gl D, H % 10 & gEL T %
T g, ST I Tg4dT g1 G, H & 970 & T16L &1 97 927 g1 C,
AT 1T H AT T 9 937 g1 E, ST 4Tt 3T o qg1 98447 8l
A9z TET TgAaT gl

Q141. FAT TgAF ATl AT ATST Tgad AT A1 {ha Afch 45
&, ST TET THE XA ATl AR & a4 & [T a7 27

(a) AT

(b) =T

(c)

(d) =%

(e) T8 | FIE ol

Q142. LT TgA ATl HT TATH TATSIT TgAT a1 6 T ®
iR #4782

(a) Fheaw amg

(b) aTE A & TE

(c) Feeaw =m0

(d) &1 (A) &< (E)

(e) TTE &< & FoT

Q143. Fwfofed o= § o 91T UF 99g & AN 92 UF [
T T T &, Rafofed 8 & w19 39 aqg & g4faq 72 2
(a) &t

(b) wagT

(c) ATET

(d) r-eree

(e) =TS

Q144. ST T2 AT F Frepeaw 211 F d27 22
(a)C

(E)E

(c) 7 ST *=ATAT TEAAT &

(d) 7 ST ¥ Tear &

(e) Hz @l g

Q145. Fwferfad ® & #19 A7 F9F T2t 951 87
(a) T FET €

(b) Bz ugaar g

(c)D Jeqgaar g

(d) D &¥-91€ wgAaT 8

() C AT Tt &

Directions (146-148): Fwfofad S&El &1 &A=&+
FLTI FHY A A= Q0 70 7577 o 39 S

u 2T Fe 9T °:

“Working as poor farmer” T “57 12 74 66” & 9 § Feag aT
T

“farmer is backbone economy” T “66 92 28 57” & T § hedg
[ERIR I

“Working for rich backbone” FT“57 6394 28" F&FT Y hIdg
ERIR I

“for farmer village economy” &I “63 66 47 57" % &9 H Fedsg
ERIR I

Q146. “farmer” 9153  foIT Fe 74T 82
(@) 57
(b) 12
()92
(d) 66
(e) 74

Q147. “merger” 9153 % foIT %z F4T &7
(a) 46

(b) 56

(c) 66

(d) 78

(e) None of these

Q148.“28 57" Fwterfera # & T 9188 FT Fe 872
(a) backbone farmer

(b) None of these

(c) farmer poor

(d) economy village

(e) backbone economy
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Directions (149-150): #1= 3T 70 wo® w1 § UF F99 ¢,
ek aTe &1 a1 =F T 1 10 1 3f7 IV ) STt T8 a9 AT 8
& FF-97/F 7% "I’ T 7 T A qF R IF g i
TETETE T T & A1+ &0 T0 et & & 797 392 71

Q149. FI: FIT A § THT TIT F HT THT FE3A T TF
&1 w2 # e 3o =R
ﬁ'

|. gT1 THH FT TAG T FTHN T gT FTUIAT 3T FT U T AT
ot %9 gr ST

11. gh == TAfAaTarst o st &1 19 SR e F:3T #9308
T FETaT fHenm

111 =T, et e o1 9 Ut =qaeT A8l oTIATs 2l

(a) F% off vt T £

(b) Fae 1 < 11l Y&

(c) FaeT 199 §

(d) Faer 11 & I Y& g

(e) 38 | FIE Tal

Q150. I FAT ATHF T T TG & TS T8 F AT AR T?
T

|. g1 =0 STUTEA I¥ &7 Hiad FT 9o 2|

11. 2T, g UHHT qERT & FSraeh q1eas & =T =1 40 bl
TEE o AT T T 2l

111 g FH=TEY =9 JAA1 % A1eqHW & SO+ 78 /T ol 2T
FLATT 2l

IV. FET1 ovg e =0 ¥ 399 29 § A0 9 92 vyiqae T8
2l

(a) Fa | o B

(b) Fae 1 Y9 &

CEEERERSIEECE

(d) a1, 11 3 1 & &

(e) =7 & FIE el

Directions (151-155): oo S HT &1 AHIET
Feqa Y S A= R o vt F e

oS =ARE A, B, C, D, E, F, G 3T H U FATHIT 4 % AT AN 95
21 T TAT FT-NT TG T GET T6HE Fd g o9 ST, Feale,
FET 9T, T2, N, TSI, I 0T SHET| 396 § T 69 & 6%
#T AT I g AT TP AT F g Fl AT I | GHE o
#T AT I A F ATAF SATE U q7 q81 9 81 T Al 19
Tt g=ATE TH T wH A gl

FET IT9 TEHE Hl AT A E % 970 F 9L &1 92 Jo1 81 F
59 =<t wHe § 98 D ¥ Meheaw a8 421 81 D ST F, E T =7
T THE Tl AT GAT & (HhedH Tl qel gl D 7T & AT hh
v 3@ gl 21 g == P S wHe g e ag = e
T THE &, TH-ZAY il A IHE 2| E T T 7 91 798 & 37
T & =791 E % Feeaw a2t a8 faom § 39@ & afaT E 5
AT 2 Deiv H, S x T g, F AT A ARF IS &I BF
Reheaw Tl 7 a7 ST 927 919 7698 g 37 F TH-gaY %
T 3@ €1 C FT 9T 919 998 A5l g 37 g a7 99 T64E
T AT T A 37 =1 g1 A, C T Feveaw werht 781 21 S
ITEAT IS § 98 ST THE F a7l o (Ashead a5 921 21 fawstr
THE A ATAT AR I % g Y A I 21 2

Q151. Fwferfem & & forar Fecte T 82
(@A

(b) G

(D

(dc

(e) S & FTE TEY

Q152. A 3T FET UT9 THE F3A ATl ATk & 7T v« =af<r 95
87

(a)ar

(b) A=

()=

(d) o=

(e)%ﬂﬁﬁqﬁ_’%?ﬁ

Q153. TUISHT THT FXA AT AR & qead H H FT T4 F4T 87
(a) ey amd

(b) FFeaw 310

(CERIERSRISEN

(d) =TT (A) i (B)

(e) &1 (A) ¥ (C)

Q154. F=ferfad & & i a1 SreT us gav & Ao daar 82
(a) fU=IT - AT U

(b) sFTT - FeAe

(c) WX - T=AT

(d) for=T - T=ft

(e) =¥ & FIE ol

Q155. 71 F Feole & Hafad g, [5o9 G ¥ HaTad g, IHT T E
__ A et g2

(@A

(b) &%

(c) arEar

(d) ZTT (A) 3717 (B)

(e) ZTHT (A) #iiT (C)

Directions (156-158): #1= f&U U Y+ w1 § Fg FI9 3
I 91 & AT 3w a0 ) soeT 3w 0 et w ' g
g, 9 &1 F FawTd a=at 7 foer wefia g gh asft fAeret #i a8
¥ fve 77 F & fow o Fewat § T w9 97 Aoy qeg =7
ST AT T uarg R ST R T et T artehd =9 9
FIEL FAT g

Q156. FIT: Fad TS g« Tha gl THT THa FFea< gl Tl et
T 2

R 1L aefY et 2¥ 81 9 gl

1. T foeas a6 gl

(a) TfE Faer Ao [ Fqaeor F:2aT &l

(b) == Faer w11 TLET FaT 8l

(c) =f =7 a1 Ao [ 3T 11 A7a0T F:3aT €l

(d) =f 7 a1 Ao [ 32 T &7 11 a0 F:3dT g

(e) TfE e [ 3% 11 AT SATHLOT 2 &

19 I www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q157. FAF: Fls F&T FHL Al gl TG FAL GG 8| FaA T,
A faed 81

Ao 1L asft S wear 7t g T gl

1. aft meeht 3 Fae g i G9TEET B

(a) TfT Faer Ao [ Saeor F3dT gl

(b) 7= Faer Ao 11 STEeeT F3aT 8

(c) e =T 7 A [ 97 11 182 F2aT gl

(d) =t 7 a1 ATl 1 307 7 &1 1 SIa20r a7 2

(e) Ff= Ao [ 37 11 TAT SATHTOT Fd 2

Q158. FJT: FaA TAILIAT & T Bl Fad Fg TAILrem
ATEATERTT 3| FIE ATATHTT AfAH 727 2

Ao 1L avft e ATt 81 99 Bl

1. Fft ATATERTE TEILTEAT B

(a) T2 Faer Aot [ STEor FaT &l

(b) =t Faer e 11 SIaToT F2aT 2

(c) Tfe =T 1 A [ 97 11 82T F2aT gl

(d) =f= 7 a1 AT 1 307 7 1 1 a0 a7 2

(e) Ff= fAehd [ 3 11 AT SATHT0T FXd 2

Directions (159-160): Fofafad SW&HT &1 AHIEF
FLTIA FY ST A QT T0 e F I S

fie difeai F v ahEar # o1 geer € Sd §= farfga e
2l

T, ST 9 ¢ fore a1 ag g1 P, W it 9T #a7 81 V, Q T fHee-
-1 g1 VAT IS ATE-a27 721 g1 V, R¥ fFamf2a 81 Q, SHr ey
g1 U, W T Ffor g, ST R FT SFhaA T ga1e gl

Q159. R, T & fohe Wt Haifara &7
(a) ofd

OEEXE

(c) TRT T AT

(d) wrg

(e) =7 & FIE el

Q160. 3T W, VAT I &, @7 W, Q & e Toh1T Hafad 872
(a) T

(b) &I

(c) =2

(d) FBreezza-=t

(e) 3T & F1E T

Directions (161-163): TI® ¥ ®, F1 ¥ T Icdl & a9
Y FATU T | T FAAT1 6 18 Fohd [ 1 [arer 1w )
FIFT FT gf0 ¥ 397 Sl

Q161. %9: |]<IsH=G>F<E<D<C<B<A
fewd 1 F<B

11: <G

(a) Tt Far fAed [ 897 81

(b) =t Faer e 1177 2

(c) =fZ =T a7 fAed [ 97 1 77 2

(d) =f= 7 a1 Ay [ i T &7 11 97 5
(e) 7tz fAehed 1 3% 11 ST e 8

Q162. FJ: X<B=]<G>K>L, J<U<T>I
Ao 11: X<T

II: L<X

(a) 7= Faer fAed 197 21

(b) =f% Faer e 11 7eT )

(c) e =T a1 R 197 1 7o )

(d) 7t 7 a7 Ao [ 8T 7 1 11 97 8l
(e) =TT A= [ =i 11 ST 9T &

Q163. FI: A<B<sW=C<D>E<F, C<N<X<M>Y
e 11: W<M

II: MsW

(a) 3T Faer Aoy [ 7T B

(b) T2 Faer AT 11 97 g

(c) f= a7 a7 fAehd 13T 11 7T 2

(d) 7t 7 a7 Ao [ 3T 1 27 11 97 8l

(e) =TT A [ =i 11 <1 T &

Q164. 9153 “Supreme” ¥ 7% & UH fohaw g & S &=
A &1 A< & oA 3 19 ST FuETAr e § g2 (3
e T T fRerTst #)

(a) #TE T

(b) TF

(c)ar

(d) f=

(e) = & srfer

Q165. g ATHAT it FATS FAT-T gl R Faer T H =T 81 P,
R ¥ & ST S & FreT 81 Q R & &aT 3ii¥ U & rer 81 S qad &
=rfer 7T 21 &7 7 wfd =fce P A« 81 U, S & a1 Feferfea
H J AL TY T AE R 82

(@R

() Q

(U

(d)s

(e) 3T AT (B) =T (D)

Directions (166-170): =T STHHET T A= 92 3T
et o & 397 )

a5 =RE P, Q, M, N, A, B, X 3T Y FTThT T 3 AT 3T TH THTT
&5 8 I S8 T A A F R IS § AT g T F5 F a7 AT
AT ITE &, T ITH A 3a7 F5 & 8 AT TAF 911 & 7T
H Y AT F FF o I AT A I ATHT NF9TAF TS 6T B
H 2N F T T WA GA TG gl A T AT bl I ATH B AT
AT o Hael § ATAT T 98 o &1 X h% % q1gL Al A Iqd
T2l 81 Q A% 970 § EL T 9T 927 81 N, Q F AT & TAL TIF
T F3T 81 P, ST A F e q51 927 § ol Y, X 33 § T eI
9T F3T 81 B, A #i¥ Q F e 98T &31 81 A, MF faadia & =i
F T AT T 92 937 B

20 I www.bankersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

kR

i) 7fe feft =1f=F *r 3 & 7 s Mo 8, 97 98 9o o A
T T 9T 5 =T F Y AT F5e o1 gl

i) zrfe ForefY =3f=F %1 4 sf= fOrq €, 7 98 s Fekeaw a0 %
=R % AT 3% =ik & ST T age 9T 2l

iii) f3 foreT =f=F 1 5 i foera 8, 97 98 T ¥ U 9% ATh
H IAT TITH T& T 2

iv) =fs FoReT =f<k T 3 97 6 3% et €, a1 ag sru=T Rofa #ir
F& e T 9 AT w1 9 95 T gl

Q166. ITHT % U< IS P &I 4 WTH 2IAT &, AT A & Aeheqw ard
% =7t~ F fATha #i F21 2

(@AM

(b) X

(c) 7g =<k ST Q% Reheaw a1 Fo1 &

(d) @8 =af<h ST X & ey ad do1 g

() TET (A) 3T (C)

Q167. ITH W 9% TfT M T 3 ITH BId &, a7 Q F a0 | A9
AT 9T &I 927 §7

(a) 78 =T<F ST N % fReheaw amd 218

(b) Fg =k ST B & Asheaw a3 318

(M

(d) &1 (A) &< (B)

(e) T Tt

Q168. 9THT % U< AT Y &l 5 fHSAT 2, a7 P % TTHA i o7
?

()M

(b)Y

(X

(d)B

(e) =7 & &S el

Q169. Q F Feeaw aTu i F27 &7
(@ N

() X

() TE ST Y & 5@

(d) = ST P & S=q@

(e) & (B) &< (C)

Q170. 9TET kel 9T AT B T 3 YT 21aT g, a7 X & a4 F e
9T B 3T X % 7T fohae =Afh 95 87

(a) TF

(b) T

(o) =

(d) IT®

(e)%ﬂﬁ@faﬁé’ﬁ

Directions (171-174): fwfafaa S=aET &1 eAWIa+
T F 3T A 0 T 9t 39

T1$B4%N6K&3L*20(7CIDBX@#SP®85ZwA
FT07 - F "t ek St T2t 37 S a1 # U T Sar g
0 % 3% a2 J&d #¥ | Faredd 3 |

FT 11- o1 31212 % 2 978 |9l oy § S K 3T & F i+
FUIHT | AT 3T SITaT 2l

F2OT [11- IS TRt o ST Tgel Ueh 3Te7¥ ATaT g, F SIe | 9«1
fRafa a5 @ 8l

(BT 11 9207 | % F7& AN graT g i =307 [ 9207 11 % 78 AR
2T €)

Q171. FXOT-111 & fohaer sreAi o 3k T HeATT 1T 87
() T®

(b) =T

(c) e

(d) =T

(e) FTE &I

Q172. Feferiad # & 19 & §&d1 39 941 & a9 § Al & 5
=0T 11 7 a0 3id & gar &2

(a)9

(b) 4

(c)8

(d)7

(e)3

Q173. =<1 111 ¥ f_eferfea & & 1 |7 92 970 8iq 7 et 3T
IT0 3T & 3T 872

(a) N®

(b) CP

(c) &S

(d) 0®

(e) K#

Q174. Fforfaa & | i9-H7 sffaw =< 87
(Q)T$B%6KCNO&L*123478(9DBX@#SP®5Z
;)))A$T%B6KCN&O*L123478(9BD@X#S®P500
%c?$T%B6KCNO&*L123478(9BD@X#S®P500
%d§$T%6BKCN&o*L123478(9BD@X#SP®500
y/

(e)%ﬂﬁ@fﬁqﬁ

Q175. TF URaR # B & g fomH &l faarfea Ioe g1 T
& AT At ) St &30 &7 AT deT | UAT AfAArtad g1 ST
Ruer & i wew g1 WeF TAT F7 F8T-29-A1 g1 TAT SEAT H7
THATAT J2T | ST T B o FAT Hael 52

(a) =T

(b) T

(c) wrs

(d) =t

Okl
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Directions (176-177): Fwferfra vt &, whi=i @, &,%, # 3iT
© FT YART fArferfera st o |rer o wram € s fa <= famm
AT 8-

'A@B' FT 1 g 'A B ¥ FleT AT IEX &

'"A%B' FT 7 g 'A B § 9T AT A&7 &'

'A&B' FT 31 g 'AB F aa¥ &'

'A#B' FT AT §'ABHTTE

'ACOB' FTAT T 'ABHGrar g’

og fRefefaa & & a0 77 § R0 70 Foa1 w1 97 A1 g0,
ST FrorT 3 S = fRw o i Rewd | s 1 E | we
At =7 8 97 § oY TEER 9T 397 |

Q176.FIT: P#Q%ROS&T ; U#R%VOS ; YRZ#Q
Ao 1. Z#V

II. ROY
111 SHT

(a) FaT |

(b) Fa= 11

(c) 11 3% 111 Tt

(d) Tt 1, 11 i< 111

(e) I 3 I =T

Q177.FI: C#DOE@F%G ; H%E&J#D ; SOT%F
s . H#F

IL T#D

111 H#C

(a) Fae |

(b) Fae II

(c) 11 3% 111 Tt

(d) &f¥ 1, 11 S 10

(e) I 3 I <=t

Directions (178-179): FH{Ed SITHFHRT FT £qHIEF I8 &Y
I A= 2w T v s

AT F Tg UEg O ST H A= aF o 91 ¢ (33T 3, 6, 9.
T ZHY a¥E1) 19 'BLUNDER' 9155 % (&A1 [ Y& O9 3F
AT SRS AHTAT % /70 | (FIL & A= T) forar S 2

Q178. T2 1Y B 3% A1&AT T o = AT TEATSA T 3d< g, v
HEAT 18, 21, 30 3T 36 F TTH forer sterel g U St orex
& | qC T | TTET ST AT o1, TS TF & Sfea sriqur
9153 & 3T I & &9 H X Fl F=feqq &7 o afs vay #12 arefa
9153 Tl g A1 Z 0 39 I & &9 | =i #:3?

(@)N

(b)R

(c)E
(d)Z
(e)X

Q179. F=AT 12 3T 42 ¥ A+ e 0 oweasi F & (SRSt
FUTHTAT AT & ATHTT) Foheer o747 87

(a) 16

(b) 17

(c) 15

(d) 14

(e)%’lﬁﬁ'aﬁ"%:@f

Directions (180-181): Fwfofad SW&El &1 &AM=IE®
FLAI FHY A A= Q0 70 7577 o 39 A

TTET T 3T & AR FE T g1 306 T4 F q1E A AU
Frff A Y 8 3w 30HT FercdT g1 e &, 3 v /e A
HEAT ¢ 3F 15 Hiex FefcT g ¥ o799 FEAT IgH STl gl T
I fRem H 20 Hiex 9T g 3% [ a8 912 3T {=aT g ¥ 15
HieT FaaT g oY TET & FETAT TF TgadT &l

Q180. fag v+ it wrfors fFurfa i Tt it wrfors fFofa &
A= AaT T2

(a) 50 Hex

(b) 25 H1ex

(c) 15 Hrex

(d) 60 ez

(e) 30 Hex

Q181. TET FT FATAT IahT ity Rorfa & e & oy fRom
i

(a) FFETOT-IA

(b) afeor-afame

(c) S

(d) 3Tz-ufzr

(e) 37T

Directions (182-183): «1= Y% T § &1 w9+ 1 i< 11 3w 1w
21 T AT AT AT TGS I B qohol @ AT TG0 HILOT o6 THATT AT
AT FHIOT g1 T gl A8 | UF HIT gAY T FT TAE 8l
THAT | ZIT BT DT € 3T T he (9 (Aefored & F Hi a1
I e 7 T FIAAT F S G F Tl &1 F 940747 2l
IR IECAES

Q182. % : I ITHAMT H USH ¥ FAAT F Ha& 98 TH H,
srfraTRat 9 st =S #§ FfEE uew Fiw § ufd ad § 10
faferm sfiw e 2o § tasmEat A fifta s a s o
farferare =TT &7 2012 9 TS UA-3E @A 9T F39 & o
T A T AT ATl

. T & § 2012 FT FI<H Tg it RATE F ATATT, 45 T4 I
TTE AT 29T H STl &7 IRl # are Tt 70 foferas & ugq
G Eal

(a) TTE FIT | TATF 5 3T HIF [ T HT 5

(b) T FAT [ TAHTA FILOT g T FAT [ THH TA §

(c) FTE FAT [ TN § ATehed FIT [ THHT TR FIL0T A5l &
(d) == T2 11 TATE § AT T [ THFHT Tl HI0T Al &
(e) 7t T A= 1 301 11 T HTE0T
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Q183. FU: L. T & TAT FIT 2T & 500000 TR HT AT
AR % forw Astee o T =m)

I1. TTAT % QAT FHT 92T H N7 =07 F 97gY 21 T, S I %
U SATATET 7 9T8¥ % &% 7 grae A forg e & aga areft
FATAT #1100 B AT AT HT AT

(a) TfT FI7 | T9TF B 3T FAF 1] T FT 5

(b) FTT FoT | TAHTA FI ¢ AT FIT [ THHT TATH &

(c) TZ FT | TAT g AT FF 1] THHT Tl FIT TGl &
(d) T FA 11 THTF g AT FAF [ THHT Tl HI0T AG1
(e) =TT TT FI 1 3T 11 ¥ 7 FILT &

Directions (184-188): F¥fafad SW&HT 1 &AMIEH
FeFAT Y ST A= U T vt s |

uF [Afea et § =fn uw s dftw | 959 § 6w 39 fRem
FT 3T I A 5| I T AT AT [ THT B

AT TS AR FaA A AT 95 gl D T THT DT I, Tg A F
T EE T 92 ST 81 D &Y K S5 St 1 weE g, % =
FIA A ATH 96 gl K 3T 7 O7 96 F2 aTel & S 91
F T §1 qIT TN T86E T 1T ATk D F7 Feeaq a2 8l
F, A 3T T (1 THE F3 a7 M1 & [Aeheqd T=H€ g C 3T
AT T THE FA AT o A1 hael q19 ATk 96 g1 C o g 4
THT g, KT Meheaq 92T 81 B, N % 970 & gAY T 9T 927 2
B, F &T fAeaw U=THT g1 A 1 #sieT 3T aTe 47 94E 5l gl F
T AT 7 THE T8l g1 N T3 FIS 7al 997 8l

Q184. f~% ¥ fohaw =af=F 9% &7
(a) AT

(b) &Ta

(c) =3

(d) ATE

(e) g

Q185. Fwferfea & & 9 aTer T 98w Fear 87
(@A

(b) F

(c)B

(d K

(e) T8 & #IE LT

Q186. C ¥ Ty ¥ fAwforfeaa § & &9 1 97 g7
1.C, D % & 927 2

. C ¥T=F F oW B 9T 927 2
111 C, F & fHeheqw a1 927 3
(a) I 32 11 <=

(b) FaT |

(c) Fa= I

(d) 11 3 111 ==t

QEEERN

Q187. Muferfea o= & & 9 uw [Afea afer & aum € =i
AT UF T 97T &, Feferted § | #9 99g & a9 qgt
7

(a) C-av=T

(b) A-fisier

(c) B-sgm

(d) K-y

(e) F-=Tet

Q188. Fwfeifad & & =fral FT FF-9T T TF AL &
s 7=t 82

(@) GF

(b) BN

(c)AF

(d)c,D

(e)BA

Directions (189-190): i f&U 7T wea® ¥ ¥ UF T A<
IHF A9 R0 T 1S N F &9 F 37 w99 {U 0 g st a8
TT FAT g o6 et | g7 72 22T Wy 1 39 o o forg gy
T AT AL T FAAT T A0 3T 3¢ der)

Q189. Ti= e &741q D1, D2, D3, D4 ¥ D5 UF & a8 TH
RS g2 Ao St el o ol %7 | 2fl Mefete § & %19
T fem D3 & & uger fefier g2 o

1. D4 T D5 & 98l 3fT D2 % a1 fefisr 3= = =m D3 #7 D5
EREEREEIERERIR R

[I. D2 T D3 & Tget etler T 4T =Tl D4 FT D3 & Tge ¥etier
=T s &l D1 AT D5 & ate feetter o wam om

(a) =T 3TheT AT [ § 2T T T IAL & o (o7 TATH g, T
Aol HAT 1L 2T T AT STL & [T 947q 721 gl

(b) TfE Tt FHAF 11 H 2T ToT &1 I & & (o0 I 8, A1
Fohel FHAT [ | T2 T FT 3L & o [0 97 =i 2l

(c) TfE 32T kel FAT [ AT STohed FHAT 11 H T57 FT IAL & o o0
T 2

(d) =% Fa= 130 [ ST § &7 797 327 U a7 5 7 I &
& forT ooty 78T 8

(e) T I=7 T 3T a9 F o 9+ [ 3% 11 41 | 327 U 91
AFLTF 2|

Q190. U= 1= €T F URET F g TaET A4 A, B, C, D, E i
F UF 9fxF § 93 7 o a7 39 f3ar #F T 3@ & atd
AraeTe Tet zdl w0 | gn Feferfed & & 9 siftw ad g e
FoT 8?

I. AT 93T B g g ST C &l /7 §1 C, A F a70 & oL &
T 3T 81 F, CFT AF g1 D, A T Meeaw T2 2

23 I www.bankersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
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ATTITF Bl

S1. Ans.(b)

Sol. Shane Watson wrote a new book titled "Winning the

Inner Battle Bringing the Best Version of You to Cricket".

Details:

e Shane Watson's new book, Winning the Inner Battle,
explores the mental side of the game through his own
experiences revitalising his career after contemplating
retirementin 2015.

e Shane Watson is one of Australian cricket’s finest all-

rounders, representing his country 298 times.
Details Related to Options:

Author Autobiography
< VVS Laxman 281 and Beyond
< Shane Warne No Spin
< Sachin Tendulkar Playing It My Way

< Chris Gayle Six Machine

S2. Ans.(e)

Sol. The Asian Squash Team Championships 2022 was held
in Cheongju, South Korea.

S$3. Ans.(a)

Sol. National Monument Authority (NMA) was established

in 2010.

Details:

e Professor Kishor Kumar Basa has been appointed as the
chairman of the National Monument Authority
(NMA).

National Monument Authority (NMA):

e National Monuments Authority (NMA) under the
Ministry of Culture, Govt. of India has been set up as per
provisions of The Ancient Monuments and
Archaeological Sites and Remains AMASR
(Amendment and Validation) Act, 2010 which was
enacted in March 2010.

BILINGUAL 7

FCIAGIII 2022
TECHNICAL
Phase-| & ||

100+ Total Tests

S4. Ans.(b)

Sol. K G Ananthakrishnan has been appointed as part-time
Non-Official Director as well as Non-Executive Chairman of
Punjab National Bank for a term of three years.

Details Related to Options:

** Ramesh Kejriwal: President of All India Rubber
Industries Association

« Charan Singh: Non-Executive Chairman of Punjab & Sind
Bank

< Srinivasan Varadarajan: Non-Executive Chairman of
Union Bank of India

« Vijay Srirangam: Non-Executive Chairman of Canara

Bank

S5. Ans.(e)

Sol. The theme of World Sight Day 2022 is “Love Your Eyes”.

Details:

=  World Sight Day is observed every year on the second
Thursday of October to raise awareness about vision
impairment, vision care, and other issues related to eyes.

= This day is observed to increase awareness about the
importance of eye health and to honour ophthalmologists
- amedical professional who diagnoses and treats human
eye and vision problems - who work tirelessly around the
globe to combat the issue.

History of World Sight Day:

= first World Sight Day was celebrated on October 8, 1998.
The “SightFirstCampaign” of Lions Club International
Foundation (LCIF) was initiated on this day.

= The organization is renowned for initiating several
programs globally related to sight, eye care, risk of

diseases, and

suffering from eye sight-restoring

surgeries.
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$6. Ans.(c)

Sol. This year, the Indian Institute of Science, Bangalore

has secured the top place among Indian universities in the

Times Higher Education Rankings 2023.

Details:

e  Globally, the University of Oxford continued to retain the
top spot for the seventh consecutive year, while the
University of Cambridge jumped to joint third from joint
fifth last year. The US is the most-represented country
overall with 177 institutions in the overall ranking list.

e Five Indian universities made it into the world’s top 500
varsities. IISc has been placed under the 251-300 bracket.

e In total, 22 Indian universities made it below rank 800 -
three of which were debutant entries. DTU, Graphic Era
University, IIT Indore, IIIT, Delhi, Jamia Hamdard
University, JNU, Kalasalingam Academy of Research and
Education, and KIIT University also have been put under
the 601-800 bracket.

S$7. Ans.(d)

Sol. Adani Green Energy Ltd has commissioned the world’s

largestwind-solar power plant of 600 MV capacity in

Jaisalmer, Rajasthan.

Details About the News:

e The plant has a power purchase agreement with Solar
Energy Corporation of India (SECI) at Rs 2.69/kWh for 25
years.

Details About Adani Green Energy:

e Adani Green Energy Limited (AGEL) is an Indian
renewable energy company headquartered in
Ahmedabad, Gujarat.

e Itis owned by the Indian conglomerate Adani Group.

e The company operates the Kamuthi Solar Power Project
which is one of the largest solar photovoltaic plants in the
world.

S8. Ans.(b)

Sol. The pink ribbon is an international symbol of breast
cancer awareness.

Every year Breast Cancer Awareness Month (BCAM) is
observed in the month of October.

S9. Ans.(b)

Sol. India has emerged as the largestproducer and

consumer of sugar in the world and the second largest

exporter.

Details of the News:

e During the sugar season in India, over 5,000 lakh metric
tons (LMT) of sugarcane was produced out of which
about 3,574 LMT was crushed by Sugar Mills to produce
about 349 LMT of Sugar.

e 35 LMT of Sugar is diverted to ethanol production and
359 LMT of sugar was produced in sugar mills.

e The sugar exports from India earned foreign currency of
about Rs 40,000 crore for the country.

e  During the Sugar season, Sugar mills produced sugarcane
worth more than Rs 1.18 lakh crore and released a
payment of more than Rs 1.12 crore with no financial
assistance.

$10. Ans.(b)

Sol. The Agasthyamalai Elephant Reserve has become the

5th Elephant Reserve of Tamil Nadu state.

Details:

e On the occasion of World Elephant Day 2022, the
government of Tamil Nadu notified Agasthyamalai
Elephant Reserve as its 5th Elephant Reserve with a
total area of 1,19,748.26 hectares at Agasthyamalai in
Tirunelveli and Kanyakumari district.

Tamil Nadu Static Facts:

Chief Minister: M K Stalin

Governor: RN Ravi

Capital: Chennai

* National Parks: Guindy, Gulf of Mannar Marine,

Anamalai, Mudumalai, Mukurthi National Parks

« Wildlife Sanctuaries: Kalakad, Sathyamangalam

Vallanadu Wildlife Sanctuaries

R/
R X4

7

o

X3

o

B3

$11. Ans.(c)

Sol.In 2005, Banks were advised to introduce a facility of ‘no
frills’ accounts with nil or low minimum balances which later
turned into Basic Savings Bank Deposit Accounts in 2012.

S$12. Ans.(e)

Sol. Under the Call Money market, funds are transacted on
an overnight basis, and under the Notice Money market,
funds are transacted for a period between 2 days and 14
days & under Term Money Market, funds are transacted for
a period between 15 days and 365 days.

$13. Ans.(d)

Sol. International Lefthanders Day is celebrated on 13

August to mark the uniqueness of left-handed people around

the world.

Details:

e International Lefthanders Day was launched by the
Club as an annual event on 13th August 1992 when
lefthanders everywhere can celebrate their uniqueness
and also increase awareness in the public about the
advantages and disadvantages of being left-handed.

e The eventis now celebrated worldwide.

S$14. Ans.(c)

Sol. The boards of Aditya Birla Capital and Aditya Birla Health

Insurance have approved a proposal for capital infusion to the

tune of Rs 665 crore in the letter from a subsidiary of Abu

Dhabi Investment Authority (ADIA).

Details:

e Aditya Birla Health Insurance is a 51:49 joint venture
between Aditya Birla Capital Limited and Momentum
Metropolitan Strategic Investments, a wholly owned
subsidiary of South African-based Momentum
Metropolitan Holdings Limited (MMH).
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$15. Ans.(b)

Sol. Rakesh Jhunjhunwala was one of India’s richest stock

market investors.

Details:

e Ace investor Rakesh Jhunjhunwala, known as the 'Big
Bull' of Dalal Street, passed away today at the age of 62
in Mumbai following a cardiac arrest.

e  With an estimated net worth of around $5.8 billion (Rs
46,000 crore), Jhunjhunwala was the 36th richest
billionaire in India, according to Forbes.

$16. Ans.(a)

Sol. Startup India Seed Fund Scheme (SISFS) was launched

on 19 April 2021.

Details:

e The scheme aims to provide financial assistance to
startups for proof of concept, prototype development,
product trials, market-entry, and commerecialization.

$17. Ans.(a)

Sol. Out of the total expenditure estimated In the Union
Budget 2022-23, revenue expenditure is estimated to be
31.94 Lakh Crore with 0.9% increase.

$18. Ans.(d)

Sol. Only statement C is correct.

Details:

As per the 36th Forbes World’s Billionaires List 2022-

e Elon Musk s leading the Forbes billionaires list with a net
worth of $219 billion, followed by Amazon chief Jeff
Bezos at $171 billion.

e America has the greatest number of billionaires at 735
worth a collective net worth of $4.7 trillion, including
Elon Musk, who tops the World’s Billionaires list for the
first time.

e China (including Macau and Hong Kong) remains number
two, with 607 billionaires worth a collective $2.3 trillion.

$19. Ans.(d)

Sol. NABARD has sanctioned Rs 221.99 crore to strengthen

school infrastructure in rural schools in Punjab.

Details About the News:

e It has sanctioned money from the Rural Infrastructure
Development Fund (RIDF) for the construction of 2,328
additional classrooms, 762 labs, and 648 playgrounds in
rural schools in all 23 districts.

e Inaddition to this, 404 integrated science labs, 62 physics
labs, 44 chemistry labs, 54 biology labs, 103 computer
labs, and 55 National Skills Qualification Framework labs
have also been sanctioned.

$20. Ans.(b)

Sol. BOE stands for “Bill of Exchange”.

Details:

e Itisawritten order used primarily in international trade
that binds one party to pay a fixed sum of money to
another party on demand or at a predetermined date.

S$21. Ans.(e)

Sol. According to the QS Best Student Cities Ranking 2023,

released by global higher education consultancy Quacquarelli

Symonds (QS), London (UK) has topped the list ranked 1

followed by Munich (Germany) and Seoul (South Korea)

ranked 2nd and Zurich (Switzerland) ranked 4th.

Details:

e Mumbai ranked 103 has emerged as India’s highest-
ranked student city.

e The other Indian cities in the rankings include Bengaluru
at 114, Chennai at 125, and New Delhi at 129.

e The ranking provides students with independent data
regarding a range of factors relevant to their study
decisions: affordability, quality of life, the standard of
university, and the views of previous students that have
studied in that destination.

S$22. Ans.(b)

Sol. Neeraj Chopra continues to create history as he won the

silver medal in the men’s Javelin throw event in the World

Athletics Championship 2022.

Details:

e Inhis fourth attempt, Neeraj Chopra managed to record a
throw of 88.13m, with this historic performance he
became the only second Indian Athlete to win a medal at
World Championship, after Anju Bobby George who
won a bronze medal in Long Jump at the 2003 World
Championship held in Paris.

$23. Ans.(d)

Sol. Start-up Incubation and Innovation Centre (SIIC) at IIT

Kanpur has launched the “NIRMAN” Accelerator

Programme, supported by the department of science and

technology, the government of India.

Details:

e The programme will focus on the manufacturing startups
engaged in healthcare and agriculture domains to help
them overcome the challenges from their prototype-to-
market journey.

$24. Ans.(c)

Sol. The international financial institution, World Bank has
appointed Indermit Gill, as its chief economist and senior
vice-president for development economics at the
multilateral development bank.

World Bank Static Facts:

« Founded: 1944

« Headquarters: Washington DC, USA

« President: David Malpass

$25. Ans.(c)

Sol. L&T Technology Services has become the first

technology company to publicly express its interest in the

government's direct allocation of spectrum for captive 5G
networks.

Details:

e [t will obtain spectrum to set up a 5G non-public network
to build use cases on the technology, apart from this, the
engineering and research and development services firm
will also deploy 5G solutions globally for parent Larsen &
Toubro.
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$26. Ans.(e)

Sol. The Airports Authority of India, Leh airport is being

built as a carbon-neutral airport, a first in India.

Details:

e A “Geothermal system” in hybridization with Solar PV
Plant will be provided in the new airport Terminal
Building for heating and cooling purposes.

e This system works by exchanging heat between the air
and the ground as its heat pumps are used for space
heating and cooling, as well as water heating.

e The main feature of this process is that naturally existing
heat is concentrated and used. It is estimated that 900
tons of carbon emissions per year will be reduced after
adopting the Geothermal system at the Leh Airport
Terminal Building project.

Airports Authority of India Static Facts:

+ Headquarters: New Delhi

+ Founded: 1 April 1995

+ Chairman: Sanjeev Kumar

$27. Ans.(b)

Sol. A certificate of Deposit is a negotiable money market
instrument, issued in dematerialized form or as a Usance
Promissory Note against funds deposited at a bank or other
eligible financial institution for a specified time period.

$28. Ans.(b)

Sol. State Bank of India launched the SBI Foundation’s Gram

Seva Program across six states of India.

Details About the News:

e On Gandhi Jayanti this year, the State Bank of India
announced that it will adopt 30 remote villages across
India under the 4th phase of the ‘SBI Gram Seva’ Program.

e The bank will adopt remote villages across Aspirational
Districts in Haryana, Gujarat, Maharashtra, Punjab, Tamil
Nadu, and West Bengal.

e The SBI foundation is actively working on areas like rural
development, healthcare, education, Sustainability,
environment, livelihood, skill development, etc.

$29. Ans.(a)

Sol. The airport is located in Ahmedabad, Gujarat.

Details:

e Sardar Vallabhbhai Patel International Airport is an
international airport serving the twin cities of
Ahmedabad and Gandhinagar in Gujarat, India.

e The airport is located in Hansol, 9 km north of
Ahmedabad. It is named after Sardar Vallabhbhai Patel,
the 1st Deputy Prime Minister of India.

$30. Ans.(a)

Sol. Scheduled commercial banks having experience in
digital banking are allowed to open DBUs in Tier 1 to Tier
6 centres without having the need to take permission from
the RBL

Details:

e The Reserve Bank of India laid down norms to allow
commercial banks to open digital banking units (DBU)
while mandating the minimum products and services that
must be offered in these units.

e The Union Budget of 2022-23 announced the setting up
of 75 Digital Banking Units (DBUs) in 75 districts to
commemorate the 75 years of independence of our
country.

e To start with, all scheduled commercial banks with past
digital banking experience are allowed to open such units
except for regional rural banks, local area banks, and
payments banks, without prior approval of the RBI in tier-
1 to tier-6 cities.

$31. Ans.(c)

Sol. Chief Minister Pushkar Singh Dhami released the book

“BEYOND THE MISTY VEIL”, Temple Tales of Uttarakhand

written by Aradhana Johri (Senior IAS) on the temples of

Uttarakhand.

Details:

e This book will be known as an authentic introduction to
the divine temples of Uttarakhand in the country and
abroad.

e The book based on the mythological temples of
Devbhoomi Uttarakhand informs us about our culture
and mythology.

e The book talks about the temples of Uttarakhand, their
significance and the tales associated with them.

$32. Ans.(c)

Sol. The United Nations Development Programme

(UNDP), has partnered with the Indian State of Telangana for

Data in Climate Resilient Agriculture (DiCRA).

Details:

e The platform aims to strengthen food systems and food
security through the wuse of Artificial Intelligence
technology.

e DiCRA is a digital solution that aims to attain Sustainable
Development Goals (SDGs).

e DiCRA will help farmers mitigate the effects of climate
change on their crops and livestock, boost the resilience
of their livelihoods, and wider food security.

e This first-of-a-kind digital solution will also bring
stakeholders together including data scientists,
government, organizations, and citizens to promote open
innovation to strengthen climate resilience in agriculture.

$33. Ans.(a)

Sol. Rafael Nadal won the men’s singles title at French Open

2022.

Details:

e The 2022 French Open is a Grand Slam tennis tournament
played on outdoor clay courts.

e IgaSwiatek won the women’s singles event, capturing
her second French Open crown, and Rafael Nadal won
the men’s singles event, capturing his record-extending
14th French Open title.
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List of Winners French Open 2022:

Title Winner Runner up

Men’s Singles Rafael Nadal (Spain) Casper Ruud (Norwegian)

Women’s Singles Iga Swigtek (Poland) Coco Gauff (US)

Marcelo Arévalo ( El Salv
ador), Jean-Julien Rojer
(Netherlands)

Ivan Dodig (Croatian), Austin

Men’s doubles N
Krajicek (US)

Caroline Garcia (French),
Kristina Mladenovic (Fren
ch)

Jessica Pegula (US), Coco

Women’s doubles
Gauff (US)

Ena Shibahara (JAPAN),
Wesley Koolh of (Netherl
ands)

Joran Viiegen (Belgium), Ulri
kke Eikeri (Norway)

Mixed doubles

S$34. Ans.(c)

Sol. Suryoday Small Finance Bank, one of India’s premier

small finance banks, has established a cooperation with

Mobisafar to provide banking services across India through

all of Mobisafar’s franchises and Business Correspondent

networks.

Details:

e The cooperation aims to increase financial inclusion by
providing vital banking services to underbanked
customers digitally, even in the most distant corners of
the country.

$35. Ans.(d)

Sol. Members of the European Parliament have voted to ban

the sale of new petrol and diesel carsby 2035.

Details:

e The move aims to step up the fight against climate change
through the faster development of electric vehicles.

e Europe’s shift to electric vehicles embolden carmakers to
invest heavily in electrification, aided by another EU law
that will require countries to install millions of vehicle
chargers.

European Parliament Static Facts:

o

+ Headquarters: Strasbourg, France
% Founded: 19 March 1958

$36. Ans.(d)

Sol. Indian Army participates in a multinational exercise “Ex

Khaan Quest 2022” where 16 other countries also took part

in Mongolia.

Details:

e President of Mongolia, UkhnaagiinKhurelsukh
inaugurated the Exercise as the host.

e Indian Army was represented by a contingent from the
LADAKH SCOUTS.

e The 14-day exercise was aimed at enhancing
interoperability, building military-to-military
relationships, and developing peace support operations
and military readiness among participating nations.

Indian Army Static Facts:
Founded: 1 April 1895

Headquarters: New Delhi
Chief of the Army Staff: Manoj Pande
Motto: Service Before Self
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$37. Ans.(c)

Sol. In the 2022 Environment Performance Index (EPI), an

analysis by Yale and Columbia University researchers that

gives a data-driven evaluation of the situation of
sustainability around the world, Denmark came in first as
the world’s most sustainable country.

Details:

e India came in last out of 180 countries.

e (limate change, environmental public health, and
biodiversity are among the 40 performance factors used
by the EPI to rank 180 nations.

e The US was ranked 20t out of 22 rich democracies in
the western world, and 43rd overall.

* India and Nigeria are at the bottom of the list.

$38. Ans.(c)

Sol. Telangana, India’s 28t state, was founded on 2nd June

2014.

Details:

e Telangana celebrates its Formation Day to mark the
people’s contribution to forming a separate state outside
of Andhra Pradesh.

e Telangana’s 30 districts honour this day by hoisting the
national flag.

$39. Ans.(c)

Sol. Talcher Thermal Power station is located in Talcher
sub-division of Angul district of Odisha state.

Odisha Static Facts:

» Capital: Bhubaneshwar

* Chief Minister: Naveen Patnaik

* Governor: Ganeshi Lal

% National Parks: Bhitarkanika National Park, Simplipal
National Park

< Folk Dance: Dalkhai

oo

oo

oo

X3

$40. Ans.(d)
Sol. Torgya’ Festival was celebrated by the Monpa tribal
community of Arunachal Pradesh state.

S$41. Ans.(c)

Sol. Fiscal Policy is the government’s actions with respect to
aggregate levels of revenue and spending and implemented
through the budget and is the primary means by which the
government can influence the economy.

S$42. Ans.(e)

Sol. Equity, Debentures, Cumulative Preference Shares
and Cumulative Convertible Preference Shares are the
instruments of Capital Market.
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$43. Ans.(d)

Sol. Adelaide Oval is a sports ground in Adelaide, South
Australia, located in the parklands between the city centre
and North Adelaide.

S44. Ans.(d)

Sol. Bank of India has recently become the first Public

Sector Bank to go live with the new Direct Tax Collection

System- Tax Information Network, TIN 2.0.

Details:

e The portal was developed by the Income Tax Department
as a Mission Mode Project under the National E-
Governance Plan. The aim of the project is to offer
taxpayers single-window access to income tax-related
services including tax payments.

e It is the official portal of the Income Tax Department,
Ministry of Finance.

Bank of India Static Facts:

Founded: 7t September 1906

Headquarters: Mumbai

MD & CEO: Atanu Kumar Das

Tagline: Relationship Beyond Banking
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$45. Ans.(d)

Sol. As per the NSO data,the Labour force participation

rate in CWS (Current Weekly Status) in urban areas for

persons aged 15 years and aboveincreased to 47.5

percent in the April-June quarter of 2022, from 46.8

percent in the same period a year ago.

Details:

e It was 47.3 percent in January-March 2022. The Worker
Population Ratio (WPR) in CWS in urban areas for
persons aged 15 years and above stood at 43.9 percent in
April-June, 2022, up from 40.9 per cent in the same period
a year ago. [t was 43.4 percent in January-March 2022.

National Statistical Office Related Facts:

e The government has formed an overarching body NSO by
merging the National Sample Survey Office (NSSO),
Computer Centre, and Central Statistical Office (CSO).

e It is the statistical wing of the Ministry of Statistics and
Programme Implementation (MoSPI).

e It Acts as the nodal agency for planned development of
the statistical system in the country.

$46. Ans.(c)

Sol. The first Homeopathy International Health

summithosted by Dubai aimed to teach and promote a

homeopathic system of medicine, medications, and practices.

Details:

e Burnett Homeopathy Pvt Limited, a company that deals
with homeopathic dilutions, mother tincture, lower
trituration tablets, and unique medicines including drops,
syrups, skincare, hair care, and other homeopathic
remedies, organized the summit.

e Ashwini Kumar Choubey, Minister of State for
Environment, Forestry, and Climate Change, virtually
addressed the meeting.

United Arab Emirates Static Facts:

R/
*

0

President: Mohammed bin Zayed Al Nahyan
Capital: Abu Dhabi

Currency: Dirham

Prime Minister: Mohammed bin Rashid Al Maktoum
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$47. Ans.(c)

Sol. The Biden Administration has approved a whopping
USD 450 million F-16 fighter jet fleet sustainment
programme to Pakistan.

Details About the News:

e Asanotification to the US Congress, the State Department
has made a determination approving a possible foreign
military sale of F-16 case for sustainment and related
equipment for an estimated cost of USD 450 million,
arguing that this will sustain Islamabad’s capability to
meet current and future counterterrorism threats by
maintaining its F-16 fleet.

PaKkistan Static Facts:

« Capital: Islamabad
«» Currency: Rupee
«» Prime Minister: Shehbaz Sharif

$48. Ans.(b)

Sol. Max Life Insurance Company Ltd has announced Rohit
Sharma, sportsicon and captain of men’s Indian Cricket team,
and his wife Ritika Sajdeh, as its brand ambassadors.

Details About the News:

e Max Life has signed a two-year partnership with the
cricketing star and his spouse, who are making their
debut onscreen together.

e The collaboration will increase the awareness of life
insurance among the younger generation and help the
company grow further.

e Theaim of the company is to promote the Max Life brand
ethos of valuing the ‘self’ to determine the right financial
value to protect themselves and their family.

$49. Ans.(e)

Sol. Incorporated in 2008 as a specialised division of the

Reserve Bank of India, NPCI is an umbrella organisation for

operating retail payments and settlement systems and

infrastructure.

Products of NPCI:

e RuPay-RuPay is an Indigenously developed Payment
System - designed to meet the expectation and needs of
the Indian consumer, banks, and merchant eco-system.
RuPay supports the issuance of debit, credit, and prepaid
cards by banks in India and thereby supporting the
growth of retail electronic payments in India.

e IMPS: With Immediate Payment Service (IMPS), India has
become the leading country in the world in real-time
payments in the retail sector.
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e NACH: National Automated Clearing House (NACH), an
offline web-based system for bulk push and pull
transactions. NACH provides an electronic mandate
platform to register mandates facilitating paper less
collection process for corporates and banks. It provides
for both account-based and Aadhaar-based transactions.

e  ABPS- Aadhaar Payment Bridge (APB) System is helping
the Government and Government agencies in making
Direct Benefit Transfers for various Central as well as
State sponsored schemes.

e AePS- To access these funds at the door step & drive
financial inclusion in India, Aadhaar enabled Payment
System (AePS) has been introduced. Since its inception, it
has become instrumental to increase the accessibility of
basic banking services in underserved areas. To extend
the convenience of biometrics to merchant payments,
BHIM Aadhaar has been launched by Hon'ble Prime
Minister Narendra Modi.

e NFS-National Financial Switch (NFS) is the largest
network of shared Automated Teller Machines (ATMs) in
India facilitating interoperable cash withdrawal, card-to-
card funds transfer, and interoperable cash deposit
transactions among other value-added services in the
country.

e UPI- Unified Payments Interface (UPI) has been termed
as a revolutionary product in the payment system.

e Bharat Bill Payment System- Bharat Bill Payment
System is offering a one-stop bill payment solution for all
recurring payments with 200+ Billers in the categories
Viz. Electricity, Gas, Water, Telecom, DTH, Loan
Repayments, Insurance, FASTag Recharge, Cable etc.
across India.

e NETC- National Payments Corporation of India (NPCI)
has developed the National Electronic Toll Collection
(NETC) program to meet the electronic tolling
requirements of the Indian market.

$50. Ans.(d)

Sol. The Global Terrorism Index is released every year by the
Australian organization named the Institute for
Economics and Peace.

S$51. Ans.(c)

Sol. The correct choice is option (c). Both (i) and (ii) support
the miscalculation of death rates which can be inferred from
the first and second paragraph of the passage.

For statement (i), refer to the second paragraph which
mentions, “Additionally, government “death audit
committees” may choose to omit deaths of patients with
confirmed COVID-19 from official tolls, citing co-morbidities
as the main cause of death.”

For statement (ii), refer to the second paragraph which
mentions, “Deaths where doctors do not write COVID-19 as a
cause of death on the hospital death certificate are missed”

$52. Ans.(c)

Sol. The correct choice is option (c) which can be inferred
from third paragraph which mentions,” This suggests a large
increase in mortality in 2021. However, 2020 was also a
pandemic year, and the early days of the pandemic saw a very
harsh lockdown”

$53. Ans.(b)

Sol. The correct choice is option (b) which can be inferred
from second paragraph which mentions the unreliability and
underestimation of deaths due to Covid-19.

$54. Ans.(d)

Sol. The correct choice is option (d) which can be inferred
from the last paragraph of the passage which mentions,” Some
may reflect overwhelmed health-care facilities or worsening
economic conditions. In fact, there is some evidence for
possible indirect effects.”

$55. Ans.(a)

Sol. The correct choice is option (a). ‘pertinent’ means
‘relevant or applicable to a particular matter’ and ‘relevant’ is
synonym which means ‘closely connected or appropriate to
what is being done or considered.’

reluctant means unwilling and hesitant; disinclined.

drowsy means sleepy and lethargic; half asleep.

Nimble means quick and light in movement or action; agile.

$56. Ans.(e)

Sol. The correct choice is option (e). The correct sentence will
be, “Using registered deaths between 2015-2018 for this
calculation reveals a similar estimate”

$57. Ans.(d)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for first blank will be
‘agenda, objective’

agenda means a list of matters that need to be discussed or
dealt with

objective means something that you are trying to achieve; an
aim

resolution means the quality of being firm and determined
tactics means the particular method you use to achieve
something

mainstream means the ideas and opinions thatare considered
normal because they are shared by most people; the people
who hold these opinions and beliefs

benign means kind or gentle

oath means a formal promise

curious means wanting to know or learn something
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$58. Ans.(e)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for second blank will be
‘disarray, chaos’

disarray means a state of confusion and complete lack of
organization in a situation or place

chaos means a state of great disorder; confusion

cursory means quick and short; done in a hurry

infiltration means intrusion

concerns means to be about something

limpid means clear

lucid means clear and easy to understand

$59. Ans.(b)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for third blank will be
‘snubbing, humiliating’

reallocating means to make changes in the way money,
materials, work, etc. are shared between different projects,
people, or groups

snubbing means to treat somebody rudely, for example by
refusing to look at or speak to him/her

humiliating means to make somebody feel very embarrassed
ensuing means to happen after (and often as a result of)
something else

insurgent means a person fighting against the government or
armed forces of their own country

negotiate means to talk to somebody in order to decide or
agree about something

appreciating means to enjoy something or to understand the
value of somebody/something

$60. Ans.(a)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for fourth blank will be
‘withdraw, retreat’

withdraw means to move or order somebody to move back or
away from a place

exile means the state of being forced to live outside your own
country

degrade means to make people respect somebody less
collaborate means to work together (with somebody),
especially to create or produce something

unite means to join together and act in agreement; to make
this happen

rumor means news or information that many people are
talking about but that is possibly not true

Dampen means to make something less strong or urgent

S61. Ans.(d)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for fifth blank will be
‘warring, conflicting’

warring means in conflict with each other.

conflicting means incompatible or at variance; contradictory.
adamant means refusing to be persuaded or to change one's
mind.

Conceived means form or devise (a plan or idea) in the mind.
Overwhelming means very great in amount.

liberal means willing to respect or accept behaviour or
opinions different from one's own; open to new ideas.

$62. Ans.(c)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for sixth blank will be
‘prospects, anticipates’

profuse means very plentiful; abundant.

locus means a particular position or place where something
occurs or is situated.

inclusive means including all the services or items normally
expected or required.

rebelling means rise in opposition or armed resistance to an
established government or leader.

prospects means the possibility or likelihood of some future
event occurring,.

robust means strong and healthy; vigorous.

$63. Ans.(b)

Sol. The above passage talks about the peace talk which was
supposed to happen in April- May but postponed due to
reluctance of Afghan’s Taliban and U.S’s withdraw from war-
torn Afghanistan. The correct choice for last blank will be
‘province, territory’

meagre means lacking in quantity or quality.

beacon means a fire or light set up in a high or prominent
position as a warning

province means a principal administrative division of a
country or empire.

Territory means an area of land under the jurisdiction of a
ruler or state.

embezzlement means theft or misappropriation of funds
placed in one's trust or belonging to one's employer.
rudimentary means relating to an immature, undeveloped, or
basic form.

S64. Ans.(c)

Sol. The correct choice is option (c) which can be inferred
from first paragraph which mentions,” A change in the
American position supporting a temporary waiver could act
as a catalyst for building consensus in favour of that proposal
when it comes up for fresh consideration at the WTO in June.
However, the path ahead is not clear. While France and Russia
have declared support, Germany has voiced its opposition.”
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$65. Ans.(d)

Sol. The correct choice is option (d) which can be inferred
from second paragraph which mentions,” On this occasion, it
chose to shield patent rights. Since the WTO operates on
consensus rather than by voting, the proposal did not advance
despite drawing support of over 60 countries.”

$66. Ans.(d)
Sol. The correct choice is option (d). ‘Shot in the arm’ means
‘A stimulus or booster, something vitalizing or encouraging’.

$67. Ans.(a)

Sol. The correct choice is option (a) which can be inferred
from the third paragraph which mentions,” Many specious
reasons were offered for such a defence. It was argued that
the capacity for producing vaccines of assured quality and
safety was limited to some laboratories and that it would be
hazardous to permit manufacturers in low and middle income
countries to play with technologies they cannot handle.”

$68. Ans.(c)

Sol. The correct choice is option (c) i.e. only (iii) is incorrect.
For (i), refer to third paragraph which mentions, “The low
labour costs in those countries are obviously so attractive that
confidence in the quality and the safety of their products is
high, so long as patents and profits are protected.”

For (ii), refer to last paragraph which mentions,” The counter
to patent waiver is an offer to license manufacturers in
developing countries, while retaining patent rights. This
restricts the opportunity for production to a chosen few.”

For (iii), refer to second paragraph which mentions,” While
many low and middle income countries supported it,
resistance came from the U.S., the United Kingdom, the
European Union, Switzerland, Australia and Japan.” Hence
(iii) is incorrect.

$69. Ans.(d)
Sol. The error lies in option (d). In option (d), ‘come up’ should
be ‘comes up’ as subject is singular here.

S$70. Ans.(e)

Sol. All the given highlighted words are correct hence correct
choice is option (e).

resistance means the refusal to accept or comply with
something.

fiercely means in a savagely violent or aggressive manner.
specious means misleading in appearance, especially
misleadingly attractive

confidence means the feeling or belief that one can have faith
in or rely on someone or something.

S$71. Ans.(b)

Sol. In above (B) and (C) need to be exchanged to make
statements grammatically and contextually correct. Hence,
the correct statements will be “As State governments have
begun implementing weekend curfews and lockdown-like
conditions amid the second wave of COVID, there is another
issue thatis emerging” and “The second wave of COVID-19 has
shown us the consequence of not preparing in advance”

S$72. Ans.(b)

Sol. In above (A) and (C) need to be exchanged to make
statements grammatically and contextually correct. Hence,
the correct statements will be, “A change of guard in
Puducherry, where governance and development took a
backseat from mid-2016 due to continuing friction between
the elected government and Raj Nivas, ushers in hope for its
people” and “Communal polarisation in the State fanned by
the acrimonious debate on the Citizenship (Amendment) Act
has been further reinforced in the outcome”

fanned means increase the strength of (a fire) by blowing on
it or stirring up the air near it.

$73. Ans.(a)

Sol. In above (A) with (C) and (B) with (D) need to be
exchanged to make statements grammatically and
contextually correct. Hence, the correct statements will be,
“The pandemic’s second wave has spread far beyond the
worst-hit cities, with almost half the new cases being reported
from rural districts” and

“India’s sovereign rating will remain unchanged at the current
level of BBB- for the next two years despite the potential
adverse impact of the surging pandemic on its economy”

S$74. Ans.(c)

Sol. In above (A) with (D) need to be exchanged to make
statements grammatically and contextually correct. Hence,
the correct statements will be, “IT markets are picking up to
such a degree that both the U.S. and Europe are running out of
critical skills, and with this, offshore and Indian alternatives
are increasingly becoming attractive for tech buyers” and
“India and South Africa had proposed a waiver for all World
Trade Organization (WTO) members on the implementation
of certain provisions of the agreement in relation to the
prevention, containment or treatment of COVID-19”

$75. Ans.(e)
Sol. The given highlighted words are correctly placed hence
no correction required.

$76. Ans.(b)

Sol. Option (b) is the correct choice. Statements (A) and (F)
can be joined together using the conjunction “(ii)” which is
‘AND’. Statements (B) and (E) can be combined using (i) which
is ‘SINCE’. Statements (C) and (D) can be connected using (iii)
which is ‘SINCE’. The sentences will be “No restrictions shall
be imposed on oxygen manufacturers and suppliers to limit
supplies only to the hospitals of the State/UT in which they
are located”

“Sean had no reason to take a taxi since his flat was near
enough to walk to.”

“We neither want to show eyes to anyone nor do we accept
anyone raise eyes at us”
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$77. Ans.(d)

Sol. Option (d) is the correct choice. Statements (C) and (F)
can be joined together using the conjunction “(iii)” which is
‘WHILE’. Statements (B) and (D) can be combined using (ii)
which is ‘OTHERWISE'. Hence the statements will be, “State
leadership should be changed otherwise party won’t be able
to survive for long” and “Commodity traders harvest billions
while price rise for everyone else”

§$78. Ans.(a)

Sol. Option (a) is the correct choice. Statements (A) and (E)
can be joined together using the conjunction “(ii)” which is
‘NEITHER'. Statements (B) and (D) can be combined using (iii)
which is ‘AS’. Hence the statements will be, “Virat Kohli has
not won any ICC title neither has he won the IPL” and “US
Covid cases hit new plateau as delta variant rises in country”

$79. Ans.(a)

Sol. Option (a) is the correct choice. Statements (A) and (D)
can be joined together using the conjunction “(ii)” which is
‘SO’. Statements (B) and (F) can be combined using (i) which
is ‘UNLESS’. Hence the statements will be, “I have often been
told that the stubble suits me so [ am happy sporting it every
now and then” and “Supreme Court won’t allow class 12th
exams unless sure of no fatality due to Covid”

$80. Ans.(b)

Sol. Option (b) is the correct choice. Statements (B) and (D)
can be joined together using the conjunction “(ii)” which is
‘AS’. Hence the statements will be, “Sanitiser dispensers and
markers for social distancing were in place as shopkeepers
raised shutters with a hope to make their first sale after a long
spell of no income.”

S$81. Ans.(c)

Sol. In the given statements, (ii) and (iii) have errors. In (ii),
‘have’ should be ‘have been’ because sentence is in present
continuous. In (iii), ‘between’ should be ‘among’ as we use
‘among’ for more than two subjects.

$82. Ans.(b)

Sol. In the given statements, (ii) and (iv) have errors. In (ii),
‘its’ should be ‘their’ because subject ‘states’ is plural. In (iv),
‘seek’ should be ‘seeks’ because noun ‘Centre’ is singular here
so we need singular verb.

$83. Ans.(a)

Sol. In the given statements, (i) and (iv) have errors. In (i),
‘dealing’ should be ‘dealing with’. In (iv), ‘who’ should be ‘that’
because we use ‘who’ as relative pronoun only for living
things. For non-living things we use ‘that’ and ‘which’.

S$84. Ans.(e)
Sol. Both the given sentences are error free hence correct
choice is option (e).

$85. Ans.(d)

Sol. In the given statements, (i) and (iv) have errors. In (i),
‘extremely’ should be ‘extreme’ as we need adjective here. In
(iv), ‘was’ should be ‘were’ because subject ‘inputs and
suggestions’ is singular here.

$86. Ans.(c)

Sol. Option (c) is the most suitable answer choice. The words
‘string, vulnerabilities, advanced’ fit appropriately in the
context of the paragraph satisfying the grammatical syntax of
the sentences. All the other words do not comprehend with
the context of the paragraph.

vulnerabilities means a weakness

paradigm means a typical example or pattern of something
ethicist means a person who specializes in or writes on ethics
synthetic means made by a chemical process; not natural
sword means a long, very sharp metal weapon, like a large
knife

$87. Ans.(a)

Sol. Option (a) is the most suitable answer choice. The words
‘appoint, examine, reorganize’ fit appropriately in the context
of the paragraph satisfying the grammatical syntax of the
sentences. All the other words do not comprehend with the
context of the paragraph.

vehemently means in a forceful, passionate, or intense
manner; with great feeling.

intrusive means causing disruption or annoyance through
being unwelcome or uninvited.

colluded means cooperate in a secret or unlawful way in order
to deceive or gain an advantage over others.

$88. Ans.(b)

Sol. Option (b) is the most suitable answer choice. The words
‘abiding, expedite, quicken’ fit appropriately in the context of
the paragraph satisfying the grammatical syntax of the
sentences. All the other words do not comprehend with the
context of the paragraph.

engross means absorb all the attention or interest of.

abiding means lasting a long time; enduring.

expedite means make (an action or process) happen sooner
or be accomplished more quickly.

requisite means made necessary by particular circumstances
or regulations

lucid means expressed clearly; easy to understand.
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$89. Ans.(d)

Sol. Option (d) is the most suitable answer choice. The words
‘cluster, determine, emerged’ fit appropriately in the context
of the paragraph satisfying the grammatical syntax of the
sentences. All the other words do not comprehend with the
context of the paragraph.

veritable means used for emphasis, often to qualify a
metaphor.

$90. Ans.(b)

Sol. Option (b) is the most suitable answer choice. The words
‘preparedness, tenuous, dealing” fit appropriately in the
context of the paragraph satisfying the grammatical syntax of
the sentences. All the other words do not comprehend with
the context of the paragraph.

tenuous means very weak or slight.

shilling means a former British coin

edifice means a large, imposing building,

repeal means revoke or annul

delegitimize means withdraw legitimate status or authority
from.

S91. Ans.(c)
Sol.

Let total number of employees in all five companies = 100n
Given, 18n — 15n = 42

n=14

Total number of employees A = 15 X 14 = 210

$93. Ans.(d)
Sol.

Let total number of employees in all five companies = 100n
Given, 18n — 15n = 42

n=14

Total number of employees A= 15 x 14 = 210

Total number of males employees in A = % x ﬁ X 210 = 80
Total employees = 100n = 1400

Total males = 80x100/10 = 800

Similarly,
Companies Total Male Female
Employees Employees Employees

A 210 80 130

B 252 120 132

Cc 364 240 124

D 350 160 190

E 224 200 24

Required percentage = % X 100 = 62.5%

$94. Ans.(a)
Sol.

Let total number of employees in all five companies = 100n
Given, 18n — 15n = 42

n=14

Total number of employees A= 15 x 14 = 210

Total number of males employees in A = % *® ﬁ X 210 = 80
Total employees = 100n = 1400

Total males = 80x100/10 = 800

Similarly,
Companies Total Male Female
Employees Employees Employees

A 210 80 130

B 252 120 132

C 364 240 124

D 350 160 190

E 224 200 24

Required angle = 222« 360° = 93.6°
1400

Total number of males employeesin A = % X ﬁ % 210 = 80
Total employees = 100n = 1400 28
Total males = 80x100,/10 = 800 Or 75X 360° = 93.6°
Similarly,
Companies Total Male Female
Employees Employees Employees
S o o0 50 $95. Ans.(b)
B 252 120 132 Sol.
C 364 240 124 Let total number of employees in all five companies = 100n
D 350 160 190 Given, 18n — 15n = 42
E 224 200 24 n=14
] i 1204240 Total number of employees A= 15 X 14 = 210
REqulred ratio = 132 Total number of males employees in A = % x ﬁ x 210 = 80
=380 Total employees = 100n = 1400
13z Total males = 80x100,/10 = 800
=30:11 Similarly,
Companies Total Male Female
Employees Employees Employees
$92. Ans.(b) A 210 50 50
B 252 120 132
Sol. c 364 240 124
Let total number of employees in all five companies = 100n D 350 160 190
Given, 18n — 15n = 42 E 224 200 24
n=14 20
Total number of employees A = 15 x 14 = 210 Total postgraduate employees from A = — X 210 = 42
Total number of males employees in A = % X ﬁ ® 210 = 80 J!_;%l]
Total employees = 100n = 1400 Total postgraduate employees from C = Too X 364 = 182
T.Ot‘?ll mlales =80x100/10 = 800 Total postgraduate male employees from A = 42 — 18 = 24
Stmilar )gompanies Total Malo Fomale Total postgraduate male employees from C= 182 — 84 = 98
Employees Employees Employees So, required sum = 24 + 98 = 122
A 210 80 130
B 252 120 132
c 364 240 124 S96. Ans_(e)
D 350 160 190 SO]
E 224 200 24 "
175 Let total number of employees in all five companies = 100n
Total number of employees in X = 224 X Too = 392 Given, 18n — 15n = 42
. 5 n=14
Total number of female employees in X = X 392 = 140 Total number of emplayees A = 15 x 14 = 210
So, required average = 140424 82 Total number of males employees in A = % X ﬁ X 210 = 80
Total employees = 100n = 1400
Total males = 80x100/10 = 800
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Similarly,

Companies Total Male Female
Employees Employees Employees

A 210 80 130

B 252 120 132

C 364 240 124

D 350 160 190

E 224 200 24

Require difference =190-160 =30

§$97. Ans.(b)

Sol.
Let amount invested by A be Rs x then amount invested by C=Rs (x+4000)
Ratio of profit share of

A B C
XX9 24000 X 3 (x+4000) X9

X ! 8000 . (x + 4000)
ATQ

x 2z
x+4000 3
x = 8000

Ratio of profit share of A, Band C=2:2: 3
Profit share of B=14000 X > = Rs 4000

$98. Ans.(a)
Sol.
Total area that will be fabricated = 2nrh + mr?
=2XTXT X144+ =X TXT
=616+ 154=770
Required cost= 770 x 2 = 1540 Rs.

$99. Ans.(b)

Sol.

A's age five years ago = 32 - 3 - 5 = 24 years

~ Age of A's father five years ago = % ® 5 =60 years
Present age of A's father = 60 + 5 = 65 years
Present age of A's mother = 65 X % =78 years.
Required sum = (65 +2) + (78 + 2) = 147 years.

$100. Ans.(b)
Sol.
Let length of train B = 4L meters
So, length if train A = 4L X % = 3L meters

$102. Ans.(b)
Sol.

Let total fixed questions be x

= 1
AT 1= =
Q 20¢, 19

x=5

Non-fixed questions =20 - 5= 15

In order to attempt maximum non-fixed questions correctly, all the non-fixed questions must
be attempted correctly.

So, required probability =§ = %

$103. Ans.(d)
Sol.

Let speed of boat in still water is § km/hr, speed of stream in river A be ‘a’ km/hr and speed
of stream in river B be ‘b’ km /hr.

ATQ,5-a= 2—5“ =4 D

AndJS+b=%‘J =10 1))

Subtracting (i) from (ii)

a+b=6 ....[ii)

Given,% = % SR |1

On solving (iii) and (iv), we get:

Za=4& b=2

Hence, $= 8 km/hr

Required time = % = 23—5
$104. Ans.(e)
Sol.
By from statement [
n xiwmxi 1
200 " oo
(n+40) 2
(2400+30m) _ 1
100(n+40) 2
n =20

Now from statement I1
(anxitsoxil) 4

100 1o0) _
an+30 100
Here 3n = 3 = 20 = 60 liters
abm
[:m}ﬂs _ 45
an 100
SENEEE, -
100 2
m=42.5
samin=425:20
=17:8
$105. Ans.(a)
Sol.

Let monthly income of man = 100x

Amount spend by man in FD = 100x x % = 30x

ATQ - Amount given by man to his son = (100x - 30x) x % =Tx
(81 +108) X % = SL:% Amount spend by man in rent = (100x - 30x - 7x) X % =7x
525xX8=7L Amount (saving & spend in household expense) by man = w =28x
L =60 meter Given, 30x - 28x = 2160
Length of train A = 180 meters 2x = 2160
Length of train B = 240 meters x=1080
Let, when trains are running in same direction cross each other in X sec So, monthly income of man = 108000 Rs.
(108 - 81) x% =w°xﬂ
7.5X =420 $106. Ans.(d)
X=056sec Sol
. K (1004Y)
Marked price = X{lT
$101. Ans.(d) . . {100+Y) _, (100-2)
selling price = X X ——— x ———
Sol. 100 100
Let cost price of each article = X Rs. ATQ,
_ (1004 -
ATQ, 1000 -X=X-880 XXLIOQ "']xloo Z:x
X=Rs. 940 100 100
Marked price of one article :¥ % 53 = Rs. 1060 = [100 + Y.] [1 00 - Z) =100 = 100 [1]
Cost price such of 20 articles = 20 X 940 = Rs. 18800 And,
Selling price of such of 20 articles = 10x % % 1060 + 10 X % % 1060 = Rs. 18020 22=Y - [it)
Required loss percentage = 18900-19020 % 100 = 4.14% ¥ 4% (loss) From ('] & [ii)
18800 Z = 50
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$107. Ans.(c)

Total number of students from A, D and F together who participated in interview =

(300+400+400) x == 935
Sol. 100
Total number of students from A, D and F together who cleared interview = 200 + 90 + 290
college Total Total Total =580
students students students Total number of students from A, D and F together who did not clear interview = 935 —
who who who did 580 = 355
cleared cleared not cleared
written interview interview
a 300 00 00 S$111. Ans.(b)
B 450 190 260 Sol.
C 200 130 70 college Total Total Total
D 400 90 310 students students students
E 250 100 150 who who who did
F 400 290 110 cleared cleared not cleared
TOTAL 2000 1000 1000 written interview interview
Total number of students from A & C together who did not A 300 200 100
cleared interview =100+70=170 2 ;gg gg jgo
Total number of students from A and C together who did not D 200 00 310
clear written papf:;: (1-;]0 —300) + (300 — 200) = 200 = 350 00 50
Required ratio = To0 = 30 F 400 290 110
TOTAL 2000 1000 1000
Students who did not clear written from B and D = (500 - 450) + (750 - 400) = 400
$108. Ans(b) Average of students who did not clear written from B and D = % =200
Sol. Average of students who cleared interview from A and E = zoo:ﬂ =150
college Total Total Total 200-150 1
i bl =1331¢
students students students Required percentage o ® 100 = 33 3 0%
who who who did
cleared cleared not cleared
written interview interview $112. Ans. (b)
A 300 200 100 Sol.
B 450 190 260 Let the total number of male employees be ‘a’
c 200 130 70 Then, total number of female employees = (200 - a)
D 400 90 310 And number of female employees like tea=a
E 250 100 150 Number of female employees like only coffee = (200 -a) - a = (200 - 2a)
F 400 290 110 Number of male employees like only tea - 20024 (100-a)
TOTAL 2000 1000 1000

Total number of students who did not cleared
=310+150+260=720
Required percentage = % X 100 = 36%

interview from D, E and B

$109. Ans.(e)
Sol.
college Total Total Total
students students students
who who who did
cleared cleared not cleared
written interview interview
A 300 200 100
B 450 190 260
C 200 130 70
D 400 90 310
E 250 100 150
F 400 290 110
TOTAL 2000 1000 1000

Total number of students who did not interview from F = 110
Total number of students who did not interview from C= 70
Zxr10+2x70  qgp

Required ratio=3+———F—=—=15:4
TH1104-x70 20

Let number of female employees like only tea be ‘b’

Number of male employees like both tea & coffee together = %

Number of female employees like both tea & coffee together = 1.4 (100 - a)
Number of male employees like only coffee = % (200-2a+hb)

ATQ,

Female employees like tea =a=b +1.4(100 - a)

= 24a=>b+ 140 e oo (D)
And,

Number of male employees =a = (100 - a) + E +§ (200-2a+b)
= 16a=5b+ 1000  ......... (ii)
From (i} & (ii)
We have,a=75
b=40
Tea Coffee

mr\dale employees
40 \35/ 50 /Female employees

Required difference = (20+35)-25 =30

BILINGUAL

Video Solutions

$110. Ans.(d)
Sol.
college Total Total Total
students students students
who who who did
cleared cleared not cleared
written interview interview
B 450 190 260
= = = et RBI, LIC, 1BPS RRB, SBI, IBPS PO | Clerk & Others
E 250 100 150
F 400 290 110 1200+ TOTAL TESTS
TOTAL 2000 1000 1000
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$113. Ans.(e)
Sol.

Let the total number of male employees be ‘a
Then, total number of female employees = (200 - a)
And number of female employees liketea=a

Number of female employees like only coffee = (200 -a) - a = (200 - 2a)

2002—2a - [100—3]

Let number of female employees like only tea be b’

Number of male employees like only tea =

Number of male employees like both tea & coffee together = %
Number of female employees like both tea & coffee together = 1.4 (100 - a)
Number of male employees like only coffee = % (200 -2a+hb)
ATQ,
Female employees like tea=a=b +1.4(100-a)
= 24a =b+ 140 e e (i)

And,
Number of male employees =a = (100 -a]) + E +§ (200-2a+hb)
= 16a=5b+ 1000 ........ (if)
From (i) & (ii)
We have,a=75
b=40

Tea Coffee

mh’lale employees
40 \35/ 50 /Female employees

Number of female employees like only tea = 40

S114. Ans.(b)
Sol.

Let the total number of male employees be ‘a’
Then, total number of female employees = (200 - a)
And number of female employees like tea=a

Number of female employees like only coffee = (200 -a) - a = (200 - 2a)

2002—2a - [100_3]

Let number of female employees like only tea be ‘b’

Number of male employees like only tea =

Number of male employees like both tea & coffee together =§
Number of female employees like both tea & coffee together = 1.4 (100 - a)
Number of male employees like only coffee = % (200 -2a+b)
ATQ,
Female employees like tea =a = b +1.4(100 - a)

= 24a = b + 140 ... ... ... (i)
And,
Number of male employees =a = (100 -a) + 2 +§ (200 -2a+b)
=16a=5b+1000 ........ (ii)
From (i) & (ii)
We have,a=75
b=40

Tea Coffee

25 (20\ 30 \Male employees
40 \35/ 50 /Female employees

Required difference= 50-40=10

$115. Ans.(a)
Sol.

Let the total number of male employees be ‘a’

Then, total number of female employees = (200 - a)

And number of female employees like tea=a

Number of female employees like only coffee = (200 -a) - a = (200 - 2a)
200 -Za

e (100-a)

Let number of female employees like only tea be ‘b’

Number of male employees like only tea =

Number of male employees like both tea & coffee together =g
Number of female employees like both tea & coffee together = 1.4 (100 - a)

Number of male employees like only coffee = % (200 -2a+b)

ATQ,
Female employees like tea=a=b +1.4(100 - a)
= 24a=b+ 140 ..o . .. (2)

And,
Number of male employees =a = (100 - a) + E +§ (200-2a+b)
=16a=5b+1000 ... (ii)
From (i) & (ii)
We have,a=75
b=40

Tea Coffee

mh’lale employees
40 \35/ 50 /Female employees

Number of male employees like coffee = 50

$116. Ans.(a)

Sol.
Applicants eligible from branch A = 40% of 1000 = 400
Applicants eligible from branch C = 50% of 800 = 400

Required average = 4004300 _ 400

$117. Ans.(c)
Sol.
Applicants eligible from branch A = 40% of 1000 = 400
Number of males from branch A who are eligible for loan = % X 11 = 220

$118. Ans.(c)

Sol.

Total applicants from branch B =2 x 800 = 1600
Applicants eligible from branch B = 50% of 1600 = 800

Number of eligible male applicants from branch B= % ¥ 29 = 580

$119. Ans.(e)
Sol.
Non-eligible applicants from branch A = 60% of 1000 = 600

Non-eligible applicants from branch C = 70% of 800 = 560

Required ratio = 20— 15:14
560

$120. Ans.(d)

Sol.

Total eligible applicants from branch B = 200 + 100 = 300
Since 50% applicants are eligible from branch B

So, total applicants = % X 100 = 600

$121. Ans.(e)
Sol.
Quantity I: let efficiency of a man is 1 unit/day.
Total work done by 20 men = 20 = 15 = 300 units
Now, in 5 days work done by 20 min = 20 = 5 = 100 units
+ Remaining work = 300 - 100 = 200 units
According to the question, suppose x men left the work.
Then, (20 — x) X ? =200
or, 1000 — 5x = 600
or, 50x = 400
s X = 8men
Quantity II: Let the speed of the car be x kmph.
_ (40+60Y 18
So,x — 38 —( 2o )x ; kmph
or,x — 38 =18
~x =56
So,:]_"ch the speed of the car = 8 km/hr
So, Quantity [ = Quantity II
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$122. Ans.(a)
Sol.

Quantity I: Let wine and water are = 5x : x

N Sx 5 . .
0w’x+5 2=‘10x x+ 2
x=75

= 25:5 25:10

ii Before mixturel After mixture
Quantity of wine = 254

Quantity II:
Let speed of boat in still water and speed of stream be Sg and Sg respectively.
ATQ
30 44
Sg—Sg | Sgp+55
40 L 55 —13
Sg—Ss (Sg+3Ss)

1 1
Take——=a,——=b
Sg — Sg Sg + Sg
30a+44b =10  ..(i)
40a +55b =13  ..(if)

On solving (i) and (ii)
a= andb==>

5 11
Sg+8;=11andSg —Sg =5
So, Sg = 8 km/hr
So, Quantity [ > Quantity II

$123. Ans.(a)
Sol.

Quantity I: Price after discount = 600 X _g—u X — =513
100 7 100

Customer have to pay =513 + 513 x 1:5:_0

513 4+ 25.65 = Rs 538.65

Required price = 538.65 X 2 = 1077.3 Rs.
Quantity II: 1075 Rs.

So, Quantity Il < Quantity [

$124. Ans.(a)
Sol.

Quantity I: Suppose the fraction is =
¥
L E

y+y 19
4x _ 30
2y 19
x _ 15

¥ 19
Quantity II: ATQ,
& 2

12+6+x 9
=x=9
Required probability =
Alternate,

Required Probability = 1 - Probability of choosing one green ball
=1-2=1

3 9
So, Quantity [ = Quantity I

9412 21 _ 7

124649 27 9

$125. Ans.(a)
Sol.

Quantity I: Suppose the age of daughter = x yr
Age of Meena = 8x yr

After 8 years

Bx+8 _ 10

=8 3

24x + 24 =10x + 80

24x — 10x = 80 — 24

14x = 56

x =4

So, the age of Meena =8x =8 x4 =32yr
Quantity II: Let age of Ravi and Vicky, 4 years ago was 5x years and 6x years respectively
2 years later, age of Ravi=(5x+6) years

Age of Rocky, 2 years later‘=(ﬂ X 5) + 2 years

4
ATQ
(5x+6) + (= x 5) + 2=63
x=4
Present age of Vicky = 28 years
So, Quantity [ > Quantity II

$126. Ans.(c)
Sol.
Let length of train be ]l m and speed be x m/s

From statement I, x = L

12
Let length of platform be ‘d' m
_i4d 1
T a0 12
3l=2d

From statement II, platform length = 1.5 X train length
(same result obtained from statement [}
Clearly, both statement together are not sufficient to answer

$127. Ans.(e)

Sol. from statement I,

Let initial quantity of mixture be 100x lit
Ratio of milk to water= 65: 35=13: 7
From statement II,

35x+30=65x

x=1

initial quantity of the milk=65 lit

and initial quantity of the water= 35 lit
so, both the statements together are necessary to answer the
questions.

$128. Ans.(e)

Sol.

From statement [ & II,

Let no. of red & blue balls be 5x & 4x respectively
No. of white balls = 5x + 1

5x¢, =10

S5x(5x-1)}=20

SxP—x—4=0

x =1 (neglecting negative value of x)

totalballs =5x+4x+ 5x+ 1 =15

clearly, both statements together are necessary to answer.

$129. Ans.(d)
Sol.

From statement I,

1 hour work of pipe C =§ — i = % units

Required time = 12 hours

From statement I, since no value of time taken is given

Clearly, only statement [ alone is sufficient to answer

$130. Ans.(a)

Sol. from statement I, diagonal length = diameter of circle
From statement II, circle circumscribing the square means
diameter of circle is diagonal of square
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Let radius be rm

ATQ, mr? = 154

r=7m

diagonal of square =14 m
side of square = 74/2m
area of square = 98 sq.m.

clearly, only statement II alone is sufficient to answer

$131. Ans.(a)
Sol.

Wrong number = 7830
Pattern of series -

8 10 20 70 320 1570 7820
| 4 4| 4| 4 4 | 4
+2 +10 +50 +250 +1250 +6250
| 4l 4| 4| 4l 4
x5 ®5 x5 x5 x5

So, there should be 7820 in place of 7830.

$132. Ans.(c)
Sol.

Wrong number = 260
Pattern of series —
380 510 618 759 856 1008
4 | 4 4l 4| 4
+119 +130 +108 +141 +97 +152
| 4 el 4| 4| 4
+11 -22 +33 -44 +55
So, there should be 261 in place of 260.

$133. Ans.(b)

Sol.

Wrong number = 36
Pattern of series -

80 166 340 690 1392 2798

4l ol 4 4l | 4
x2+4 *x2+h x2+8 %2410 x2+412 x2+14
So, there should be 38 in place of 36.
S$134. Ans.(a)
Sol.
Wrong number = 36
15.5 17 [37] m7 480 2424 14592
.‘\"'-. .--"/; ..\“-._ ( Jl'.\\\"--. .--'J/’;.-‘\.\'--. ~ ;A.\\‘\. -"/'!\.\\\. .4'/’!
x1+1.5 x243 %x3+6 x4+12 x5+24 xG+48
There should be 37 in place of 36.
$135. Ans.(c)
Sol.
Wrong number = 388
384 2112 2212 2?'|24 2?|GD 28[24 2828
' +1fr23 +1‘|[30 +5T12 +?T5 +64 +4
12° 102 8° 6° & z

There should be 384 in place of 388.

$136. Ans.(e)
Sol.

Total male employee in A = 50

So, total female employee in B = 50 X % =80

And, total female employee in C =80 X % =60

Let there are x female employee in company A
50 _ 5

s0+x 12

x=70

let there are v & z male employee in company B & company C respectively
ytz _ 14

EO0+y+z 19

V+zZ=140 rrririnen (i)
¥ -]

y+B0  z+60
yz + 60y =yz + 80z

viz=4:3 (i)

using (i) & (ii)

y =80, z=60

A B C

Male 50 80 60
employee
Female 70 80 60
employee

Female employees in company A =70

$137. Ans.(a)
Sol.

Total male employee in A =50
So, total female employee in B = 50 X % =80

And, total female employee in C =80 X % =60

Let there are x female employee in company A
50 5

s0fx 12

x=70

let there are y & z male employee in company B & company C respectively
y+z ﬁ

50+y+z 19

v+z=140 v (i)
v

=

y+B0  z+60
yz + 60y = yz + 80z

Vi2=4:3 (i)

using (i) & (ii)

y =80, z=60

A B Cc

Male 50 80 60
employee
Female 70 80 60
employee

Required difference =80 - 80 =0

BILINGUAL

Special Offer
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$138. Ans.(e)
Sol.

Total male employee in A =50

So, total female employee in B = 50 X % =80

And, total female employee in C = 80 X % =60
Let there are x female employee in company A
50 _ 5

S0+x 12

x=70

let there are y & z male employee in company B & company C respectively
¥tz ﬁ

50+y+z 19

Vv+z=140 rireienns (i)
¥ T

y+80 =460
yz + 60y =yz + 80z

v:z=4:3 (i)
using (i) & (ii)
v =80, z=60
A B C
Male 50 80 60
employee
Female 70 80 60
employee
. 80-60
Required percentage = i 100 = 259

$139. Ans.(a)
Sol.

Total male employee in A =50

So, total female employee in B = 50 X % =80

And, total female employee in C = 80 X % =60

Let there are x female employee in company A
50 5

s0+x 12

x=70

let there are y & z male employee in company B & company C respectively
Y4z E

50+y+z 19

Vv+z=140 e (i)
> T

y+80 = zte0
yz+ 60y =yz+ 80z

yrz=4:3 (i)

using (i) & (ii)

y =80, z=60

A B C

Male 50 80 60
employee
Female 70 80 60
employee

Male employees in company C = 60

$140. Ans.(d)
Sol.

Total male employee in A =50

So, total female employee in B = 50 x % =80

And, total female employee in C= 80 X % =60

Let there are x female employee in company A
50 _ 5

S0+x 12

x=70

let there are y & z male employee in company B & company C respectively
vtz _ 14

S04y+z 19

V+zZ=140 e (i)
¥

T

B0 =460

vz + 60y =yz + 80z
yrz=4:3 (i)
using (i) & (ii)

v =80, z=60

A B C
Male 50 80 60
employee
Female 70 80 60
employee

Total employee in B = 80 + 80 = 160
Total employee in A=50+70=120

1607120 100 = 33204
120 3

Required percentage =
$141. Ans.(c)
Sol. By using the given information:
D sits second to the left of H, who wears Trouser. G sits 31 to
the left of H. A, who likes Saree sits fIfth to the right of G, who
faces outside. C sits fourth to the left of A. We have two
possible cases for that Casel, and Case2.

Case 1
Case 2

Saree D Saree

T : H g
rouser Trouser
The one who wears Dhoti sits fourth to the right of D. B sits
third to the left of the one who wears Dhoti. Here Case 2 is
ruled out now.
Casel

Dhoti

Saree

H
Trouser

The who wears T-Shirts sits third to the right of B. C wears
Plazzo and immediate neighbour of G. So, by elimination we
getF wears Dhoti and the two vacant seats. Four Persons faces
inside the center and remaining person faces outside the
center.

Plazzo

Vacant

Dhoti

D

Tshirt Saree

Trouser

The one who wears Kurta is not an immediate neighbor of the
one who wears Saree. A does not wear pants. E, who does not
wear Dhoti, and Shirts, so E wears Saree and B wears Pants
and G wears Kurta. Now we have our final arrangements.
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Plazzo Vacant F

D
Tshirt

Vacant

$142. Ans.(b)

Sol. By using the given information:

D sits second to the left of H, who wears Trouser. G sits 3 to
the left of H. A, who likes Saree sits fIfth to the right of G, who
faces outside. C sits fourth to the left of A. We have two

possible cases for that Casel, and Case2.

Casel
Case 2

Saree D Sared

H A
H
Trouser

Trouser
The one who wears Dhoti sits fourth to the right of D. B sits
third to the left of the one who wears Dhoti. Here Case 2 is
ruled out now.
Casel

Dhoti

Saree

H
Trouser

The who wears T-Shirts sits third to the right of B. C wears
Plazzo and immediate neighbour of G. So, by elimination we
get F wears Dhoti and the two vacant seats. Four Persons faces
inside the center and remaining person faces outside the

center.
Plazzo

Vacant

Dhoti

D

Tshirt Saree

Vacant

H
Trouser

The one who wears Kurta is not an immediate neighbor of the
one who wears Saree. A does not wear pants. E, who does not
wear Dhoti, and Shirts, so E wears Saree and B wears Pants
and G wears Kurta. Now we have our final arrangements.

Vacant

Dhoti

A
Shirt

D
Tshirt

Vacant

H Pant
Trouser

$143. Ans.(d)

Sol. By using the given information:

D sits second to the left of H, who wears Trouser. G sits 31 to
the left of H. A, who likes Saree sits fIfth to the right of G, who
faces outside. C sits fourth to the left of A. We have two

possible cases for that Casel, and Case2.

Casel
Case 2

Saree D Saree

H A
H
Trouser

The one who wears Dhoti sits fourth to the right of D. B sits
third to the left of the one who wears Dhoti. Here Case 2 is
ruled out now.

Case 1

Trouser

Dhoti

Saree

H
Trouser

The who wears T-Shirts sits third to the right of B. C wears
Plazzo and immediate neighbour of G. So, by elimination we
getF wears Dhoti and the two vacant seats. Four Persons faces
inside the center and remaining person faces outside the
center.

Plaézo Vacant

Dhoti

D

Tshirt Saree

H
Trouser

The one who wears Kurta is not an immediate neighbor of the
one who wears Saree. A does not wear pants. E, who does not
wear Dhoti, and Shirts, so E wears Saree and B wears Pants
and G wears Kurta. Now we have our final arrangements.
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Plazzo  yacqpt

Kurta
Shirt

D
Tshirt

Vacant

H Pant
Trouser

$144. Ans.(e)

Sol. By using the given information:

D sits second to the left of H, who wears Trouser. G sits 31 to
the left of H. A, who likes Saree sits fIfth to the right of G, who
faces outside. C sits fourth to the left of A. We have two
possible cases for that Casel, and CaseZ2.

Case 1l
Case 2

Saree D g
aree

H A
H
Trouser

Trouser
The one who wears Dhoti sits fourth to the right of D. B sits
third to the left of the one who wears Dhoti. Here Case 2 is

ruled out now.
Casel

Dhoti

Saree

H
Trouser

The who wears T-Shirts sits third to the right of B. C wears
Plazzo and immediate neighbour of G. So, by elimination we
get F wears Dhoti and the two vacant seats. Four Persons faces
inside the center and remaining person faces outside the
center.

Plazzo

Vacant

Dhoti

D

Tshirt Saree

Vacant

H
Trouser

The one who wears Kurta is not an immediate neighbor of the
one who wears Saree. A does not wear pants. E, who does not
wear Dhoti, and Shirts, so E wears Saree and B wears Pants
and G wears Kurta. Now we have our final arrangements.

Plazzo

Vacant

Dhoti

A
Shirt

D
Tshirt

Vacant

H Pant
Trouser

$145. Ans.(c)

Sol. By using the given information:

D sits second to the left of H, who wears Trouser. G sits 31 to
the left of H. A, who likes Saree sits fIfth to the right of G, who
faces outside. C sits fourth to the left of A. We have two

possible cases for that Casel, and Case2.

Casel
Case 2

Saree D Saree

H A
H

Trouser
The one who wears Dhoti sits fourth to the right of D. B sits
third to the left of the one who wears Dhoti. Here Case 2 is

ruled out now.
Casel

Trouser

Dhoti

Saree

H
Trouser

The who wears T-Shirts sits third to the right of B. C wears
Plazzo and immediate neighbour of G. So, by elimination we
getF wears Dhoti and the two vacant seats. Four Persons faces
inside the center and remaining person faces outside the

center.
Plazzo

Vacant

Dhoti

D

Tshirt Saree

Vacant

H
Trouser
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The one who wears Kurta is not an immediate neighbor of the
one who wears Saree. A does not wear pants. E, who does not
wear Dhoti, and Shirts, so E wears Saree and B wears Pants

and G wears Kurta. Now we have our final arrangements.
Plazzo

Vacant

3
Dhoti

A
Shirt

D
Tshirt

Vacant

$146. Ans.(d)

Sol. Word is coded as follows:
place value of the first
letter or the sum of the
place value of the first
letter in case its a two-digit
number.

I
Economy ——> 57— number of letters in the

word

S$147. Ans.(a)

Sol. Word is coded as follows:
place value of the first
letter or the sum of the
place value of the first
letter in case its a two-digit
number.

I
Economy ——> 57— number of letters in the

word

$148. Ans.(e)

Sol. Word is coded as follows:
place value of the first
letter or the sum of the
place value of the first
letter in case its a two-digit
number.

I
Economy ——> 57— number of letters in the

word

$149. Ans.(e)

Sol. Only I and II are strong.

Clearly, Both I and II hold strong, as they provide very
convincing reasons, for a single tax system would help get rid
of multifarious taxes on a product. Besides, the idea of
imitation of other countries in the implementation of a certain
policy holds no relevance. So, argument III does not hold
strong.

$150. Ans.(b)

Sol. Clearly, trade unions provide a common platform for the
workers to voice their demands and protests and thus ensure
that they are not subdued or exploited. So, argument II holds
strong, while I and III do not. Besides, the idea of imitation of
other countries in the implementation of a certain policy,
holds no relevance. So, argument IV also not hold strong.

$151. Ans.(d)

Sol. As per the given conditions, the one who likes Vada Pav
sits third to the left of E. F who likes Idli sits to the immediate
left of D. D and F are not immediate neighbours of both E and
the one who likes Vada Pav. D doesn’t face outside the table.
The one who likes Dosa and the one who likes Noodles face
each other. E neither likes Dosa nor Noodles. So, here we have
three possible cases i.e. case 1, case 2 and case 3. The one who
likes Pasta sits to the immediate right of the one who likes
Dosa.

Case 1 Case 2 Case 3

Vada Pav

Noodles

Pasta

Immediate neighbours of E face same direction to each other
but opposite to E. So, here case 2 and case 3 get eliminated.
Two persons sit between D and H who likes Burger.

Immediate neighbours of B like Burger and Vada Pav.
Case 1

E
C doesn’t like Vada Pav and doesn’t face the one who likes
Vada Pav. A is not an immediate neighbour of C. The one who
likes Pizza doesn’t face towards the centre of the circle. So, we
have the final arrangement:
C

Cutlet

B
Dosa Noodles

Pasta Burger

E
Pizza

$152. Ans.(b)

Sol. As per the given conditions, the one who likes Vada Pav
sits third to the left of E. F who likes Idli sits to the immediate
left of D. D and F are not immediate neighbours of both E and
the one who likes Vada Pav. D doesn’t face outside the table.
The one who likes Dosa and the one who likes Noodles face
each other. E neither likes Dosa nor Noodles. So, here we have
three possible cases i.e. case 1, case 2 and case 3. The one who
likes Pasta sits to the immediate right of the one who likes
Dosa.
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Case 1 Case2 Case 3

Vada Pav Dosa,

F
1dli

Noodles

E Pasta

Immediate neighbours of E face same direction to each other
but opposite to E. So, here case 2 and case 3 get eliminated.
Two persons sit between D and H who likes Burger.

Immediate neighbours of B like Burger and Vada Pav.
Case 1

F
Idli
Vada Pav

Dosa Noodles

Pasta Burger

E
C doesn’t like Vada Pav and doesn’t face the one who likes
Vada Pav. A is not an immediate neighbour of C. The one who
likes Pizza doesn’t face towards the centre of the circle. So, we
have the finalcarrangement:

Burger

E
Pizza

$153. Ans.(e)

Sol. As per the given conditions, the one who likes Vada Pav
sits third to the left of E. F who likes Idli sits to the immediate
left of D. D and F are not immediate neighbours of both E and
the one who likes Vada Pav. D doesn’t face outside the table.
The one who likes Dosa and the one who likes Noodles face
each other. E neither likes Dosa nor Noodles. So, here we have
three possible cases i.e. case 1, case 2 and case 3. The one who
likes Pasta sits to the immediate right of the one who likes
Dosa.

Case 1 Case2 Case 3

Vada Pav

Noodles

Pasta

Immediate neighbours of E face same direction to each other
but opposite to E. So, here case 2 and case 3 get eliminated.
Two persons sit between D and H who likes Burger.

Immediate neighbours of B like Burger and Vada Pav.
Case 1

Vada Pav

Pasta Burger

C doesn’t like Vada Pav and doesn’t face the one who likes
Vada Pav. A is not an immediate neighbour of C. The one who
likes Pizza doesn’t face towards the centre of the circle. So, we

have the final arrangement:
C

Burger

E
Pizza

$154. Ans.(c)

Sol. As per the given conditions, the one who likes Vada Pav
sits third to the left of E. F who likes Idli sits to the immediate
left of D. D and F are not immediate neighbours of both E and
the one who likes Vada Pav. D doesn’t face outside the table.
The one who likes Dosa and the one who likes Noodles face
each other. E neither likes Dosa nor Noodles. So, here we have
three possible cases i.e. case 1, case 2 and case 3. The one who
likes Pasta sits to the immediate right of the one who likes
Dosa.

Case 1 CaseZ Case 3

Vada Pav Vada Pav gnsa_

F
Idli

Noodles
E E

Pasta

Immediate neighbours of E face same direction to each other
but opposite to E. So, here case 2 and case 3 get eliminated.

Two persons sit between D and H who likes Burger.

Immediate neighbours of B like Burger and Vada Pav.
Case 1

Vada Pav

Pasta Burger

E
C doesn’t like Vada Pav and doesn’t face the one who likes
Vada Pav. A is not an immediate neighbour of C. The one who
likes Pizza doesn’t face towards the centre of the circle. So, we

have the final arrangement:
C

A
Pasta Burger

E
Pizza
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S$155. Ans.(e)

Sol. As per the given conditions, the one who likes Vada Pav
sits third to the left of E. F who likes Idli sits to the immediate
left of D. D and F are not immediate neighbours of both E and
the one who likes Vada Pav. D doesn’t face outside the table.
The one who likes Dosa and the one who likes Noodles face
each other. E neither likes Dosa nor Noodles. So, here we have
three possible cases i.e. case 1, case 2 and case 3. The one who
likes Pasta sits to the immediate right of the one who likes
Dosa.

Case 1 Case2 Case 3

D
Vada Pav Dosa,

F
1dli

Noadles

E

Pasta

Immediate neighbours of E face same direction to each other
but opposite to E. So, here case 2 and case 3 get eliminated.
Two persons sit between D and H who likes Burger.

Immediate neighbours of B like Burger and Vada Pav.
Case 1

Vada Pav

Pasta Burger

E

C doesn’t like Vada Pav and doesn’t face the one who likes

Vada Pav. A is not an immediate neighbour of C. The one who
likes Pizza doesn’t face towards the centre of the circle. So, we
have the final arrangement:

C
Cutlet

B
Dosa Noodles

Pasta Burger

E
Pizza

$156. Ans.(a)
Sol.

S$157. Ans.(e)
Sol.

C e CRER LD

$158. Ans.(d)

Sol.

$159. Ans.(c)

Sol.

P(-)==5(+)
V() R(+) Q(+) T()

w u

$160. Ans.(a)

Sol.
P(-)=—=5(+)

V() R(+) Q(+) T()
wi(-) U

$161. Ans.(b)
Sol. I. F<B (False)
I1. I<G (True)

$162. Ans.(a)
Sol. X<T (True)
II. L<X (False)

$163. Ans.(a)
Sol. W<M (True)
II. MsW (False)

$164. Ans.(b)
Sol.

SUPREME

|

$165. Ans.(e)
Sol.

U>S/Q>S/Q>P>R>T

$166. Ans.(c)

Sol. By using the given information:

A sits third to the right of the one who sits opposite to M. Q
sits second to the left of A. B does not sit near to A and Q. N sits
second to the left of Q. We have four possible cases for that
Casel, Casel(a), Case2, Case2(a).

45 I www.bankersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Case 1 Case 2
B N N
) v
= 9 Qr> B
4 I
L A u =3
A M Q M A
Case la Case 2a
B N N o B
v v
> q op ¢
2 4
% 2 A 2
A M Q M

P, who does not sit near to A and Y sits second to the right of
X. X does not face outside the center. Now Case2, and Caes2(a)
will be eliminated as we can’t place P and Y. Now Casel will
be eliminated as we can’t place X.

B X N
v
Y P qr
L 2 3
A M Q

The one who sits immediate left of Q, sits opposite to the one
sits immediate right of A after interchanging their position.

P X N
v
Y P> B
© 2 =)
A M Q

$167. Ans.(e)
Sol. By using the given information:

A sits third to the right of the one who sits opposite to M. Q
sits second to the left of A. B does not sit near to A and Q. N sits
second to the left of Q. We have four possible cases for that
Casel, Caselga), Case2, Case2(a).

Case Case 2
B N N
v v
=> e QP> «B
2 A
[ L} L i}
A M Q M A
Case la Case 2a
B N N o B
¥ v
> H QP <
2 A
i - | A =
A M Q M

P, who does not sit near to A and Y sits second to the right of
X. X does not face outside the center. Now Case2, and Caes2(a)
will be eliminated as we can’t place P and Y. Now Casel will
be eliminated as we can’t place X.

B X N
v
Y P2 Hrp
¢ 1 3
A M Q
All of these
B M N
v
Y > Hrp
I 2 b
A X Q

$168. Ans.(a)

Sol. By using the given information:

A sits third to the right of the one who sits opposite to M. Q
sits second to the left of A. B does not sit near to A and Q. N sits
second to the left of Q. We have four possible cases for that
Casel, Casel(a), Case2, Case2(a).

Case 1 Case 2
B N N
v v
= = QP> & B
I I
14 = 14 =
A M Q M A
Case 1la Case 2a
B N N 2B
v v
= 3 QP G
s I
14 | A =3
A M Q M

P, who does not sit near to A and Y sits second to the right of
X. X does not face outside the center. Now Case2, and Caes2(a)
will be eliminated as we can’t place P and Y. Now Casel will
be eliminated as we can’t place X.

B X N
v
Vil 4 Hqr
©w 4 =)
A M Q
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v
M P Hp
i 2 3
A Y Q

$169. Ans.(c)

Sol. By using the given information:

A sits third to the right of the one who sits opposite to M. Q
sits second to the left of A. B does not sit near to A and Q. N sits
second to the left of Q. We have four possible cases for that

Casel, Casel(a}, Case2, Case2(a).

Lase . Case 2

B N N
v v
Ka 2 Qr> “B
4 I
4 i 14 =
A M Q M A
Case 1a Case 2a
v v
> 4 o] 2 3
A I
L4 | A 1
A M Q M

P, who does not sit near to A and Y sits second to the right of
X. X does not face outside the center. Now Case2, and Caes2(a)
will be eliminated as we can’t place P and Y. Now Casel will
be eliminated as we can’t place X.

B X
-
Y B Hqp
s 1 e}
A M Q

TEST SERIES
BILINGUAL

SBI PO

MAINS

50+ TOTALTESTS

$170. Ans.(d)

Sol. By using the given information:

A sits third to the right of the one who sits opposite to M. Q
sits second to the left of A. B does not sit near to A and Q. N sits
second to the left of Q. We have four possible cases for that
Casel, Casel(a), Case2, Case2(a).

Casel Case 2
B N N
¥ v
= < QP HB
I 2
14 = L =
A M Q M A
Case 1a Case 2a
v v
> L9 *] o G
2 I
i ] A ]
A M Q M

P, who does not sit near to A and Y sits second to the right of
X. X does not face outside the center. Now Case2, and Caes2(a)
will be eliminated as we can’t place P and Y. Now Casel will
be eliminated as we can’t place X.

v
Y > “P
! 1 3
A M Q
Q X N
v
M B 4r
s 4 =
A ¥ B

S$171. Ans.(c)

Sol.Input: T1$B4%N6K&3L*20(7CI9DBX@#S
P®85Zx0A

Step: T$B%N6K&L*0123478(CI9DBX@#SP®
5ZxA

Stepl: T$B% 6KCNO&L*123478(9DBX@#SP®
5ZxA

SteplIl: $T%B6KCN&O*L123478(9BD@X#S®P
50ZA

B6, L1, P5
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$172. Ans.(d)

Sol.Input: T1$B4%N6K&3L*20(7CI9DBX@#S
P®85Zx0A

Step: T$B%N6K&L*0123478(CIDBX@#SP®
5ZxoA

Stepl: T$B% 6 KCNO&L*123478(9DBX@#SP®
5Zx0A

Steplll: $ST%B6KCN&O*L123478(9BD@X#S®P
50ZA

$173. Ans.(a)

Sol.Input: T1$B4%N6K&3L*20(7CI9DBX@#S
P®85ZxwA

Step: T$B%N6K&L*0123478(CIDBX@#SP®
5Zx0A

Stepl: T$B% 6 KCNO&L*123478(9DBX@#SP®
5Zx0A

Stepll: $ST% B6KCN&O*L123478(9BD@X#S®P
50ZA

S$174. Ans.(b)

Sol.Input: T1$B4%N6K&3L*20(7CO9DBX@#S
P®85Zx0A

Step: T$B%N6K&L*0123478(CI9DBX@#SP®
5ZxA

Stepl: T$B% 6 KCNO&L*123478(9DBX@#SP®
5ZxA

Steplll: $ST% B6KCN&O*L123478(9BD@X#S®P
50ZA

S$175. Ans.(d)
Sol.

Rajesh(-)=Diana(+)

Fredrick(+)=Harry(-)—Ana(+)

Dimple(+)

$176. Ans.(e)
Sol. . Z#V (True)
II. ROY(True)
I11. S#T (False)

S$177. Ans.(b)
Sol. I. H#F (False)
II. T#D(True)
[1I. H#C(False)

$178. Ans.(e)
SdWm%bmmWw&wamETNkRmmmmm

3

6 B
9

12 D
15

18 E
21 T
24 L
27

30 N
33

36 R
39

42 9]
45

$179. Ans.(a)
Sol. Number of letters between D and U ( according to the
English alphabetical series)= 16

3

6 B
9

12 D
15

18 E
21

24 L
27

30 N
33

36 R
39

42 U
45

$180. Ans.(a)

Sol.
Rakhi's initial position
30m
30m
Rakhi's office
1l

15m 15m
20m

Raman's initial
position
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$181. Ans.(b)
Sol.

Rakhi's initial position

30m

30m

Rakhi's office

15m 15m
20m

Raman's initial
position

$182. Ans.(a)

Sol. Statement II is cause and Statement I is its effect. As
statement II states that 70 million people will die of AIDS in
upcoming time in worst affected countries and statement I
states that officials donated some amount to the global AIDS
fund and it will help 2 million people for their treatment so it
is an effect which will turn out from the report of UN.

$183. Ans.(a)

Sol. Statement II is the cause and Statement I is its effect as
after the fire burned out in eastern Goma, its people were
forced to relocate to Rwanda.

$184. Ans.(b)

Sol. From the given statement, only two persons sit to the left
of A. D who likes white sits third to the right of A. Only three
persons sitbetween D and K who likes purple. So, we have two
possible cases. Four persons sit between K and the one who
likes brown. The one who like brown is an immediate
neighbor of D. F is an immediate neighbor of both A and the

one who likes red.

(red) (white) (brown) = (red) (brown) (white) (purple)
| I | | 1 | | I |
I I I N B | N D

K A F D F A D K

(purple)
|

case-1 case-2

Only three persons sit between C and the one who likes red. C
who likes green is an immediate neighbor of K. So case-2 is
eliminated. B sits second to the left of N. B is an immediate
neighbor of F. A does not like Magenta and red. F does not like
yellow. No one sits to the right of N means A likes Yellow and
F likes Magenta. Hence the final arrangement is:

(green) (vellow) (red) (brown)
| | | |

] |
| | 1 | | I
A F B D N
(magenta) (white)

K
(purple)

$185. Ans.(c)

Sol. From the given statement, only two persons sit to the left
of A. D who likes white sits third to the right of A. Only three
persons sit between D and K who likes purple. So, we have two
possible cases. Four persons sit between K and the one who
likes brown. The one who like brown is an immediate
neighbor of D. F is an immediate neighbor of both A and the
one who likes red.

(purple) (red) (white) (brown) (red)

[N 1T T 1

K A T D F A D K

(brown) (white) (purple)

case-1 case-2

Only three persons sit between C and the one who likes red. C
who likes green is an immediate neighbor of K. So case-2 is
eliminated. B sits second to the left of N. B is an immediate
neighbor of F. A does not like Magenta and red. F does not like
yellow. No one sits to the right of N means A likes Yellow and
F likes Magenta. Hence the final arrangement is:
(green) (vellow) (red) | (hmlwn)

| l | ] |

I | o I | I
A F B D N

(magenta) (white)

K
(purple)

$186. Ans.(a)
Sol. From the given statement, only two persons sit to the left
of A. D who likes white sits third to the right of A. Only three
persons sitbetween D and K who likes purple. So, we have two
possible cases. Four persons sit between K and the one who
likes brown. The one who like brown is an immediate
neighbor of D. F is an immediate neighbor of both A and the
one who likes red.

(purple)

|
I 1 T T 1T 1
K A F 1] F A D K

(red) (white) (brown)  (red) (brown) (white) (purple)

case-1 case-2

Only three persons sit between C and the one who likes red. C
who likes green is an immediate neighbor of K. So case-2 is
eliminated. B sits second to the left of N. B is an immediate
neighbor of F. A does not like Magenta and red. F does not like
yellow. No one sits to the right of N means A likes Yellow and
F likes Magenta. Hence the final arrangement is:

(green) (yellow) (red) |
| | | | |
| | [ | I I
! B D N
(white)

(brown)

K F
(purPIe) (magenta)
$187. Ans.(d)

Sol. From the given statement, only two persons sit to the left
of A. D who likes white sits third to the right of A. Only three
persons sitbetween D and K who likes purple. So, we have two
possible cases. Four persons sit between K and the one who
likes brown. The one who like brown is an immediate
neighbor of D. F is an immediate neighbor of both A and the

one who likes red.

(purple) (red) (white) (brown) (red) (brown) (white) (purple)
| | | |

i 11

K A F D F A D K

case-1 case-2

Only three persons sit between C and the one who likes red. C
who likes green is an immediate neighbor of K. So case-2 is
eliminated. B sits second to the left of N. B is an immediate
neighbor of F. A does not like Magenta and red. F does not like
yellow. No one sits to the right of N means A likes Yellow and
F likes Magenta. Hence the final arrangement is:

(green) (yvellow) (red)
| | | ] | |

[ | 1 I | I
c

(brown)

A F B D N
(white)

K
(purple) (magenta)
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$188. Ans.(c)

Sol. From the given statement, only two persons sit to the left
of A. D who likes white sits third to the right of A. Only three
persons sitbetween D and K who likes purple. So, we have two
possible cases. Four persons sit between K and the one who
likes brown. The one who like brown is an immediate
neighbor of D. F is an immediate neighbor of both A and the

one who likes red.

(purple) (red) (white) (brown)  (red)
| 11 1 | [ I |
— T T 1 T T 1 T 11T 1T1T 17

K A F D F A D K

(brown) (white) (purple)
|

case-1 case-2

Only three persons sit between C and the one who likes red. C
who likes green is an immediate neighbor of K. So case-2 is
eliminated. B sits second to the left of N. B is an immediate
neighbor of F. A does not like Magenta and red. F does not like
yellow. No one sits to the right of N means A likes Yellow and
F likes Magenta. Hence the final arrangement is:

(green) (yellow) (red)
| | ]

| | |

[ [ 1 [ [ I

J B D N
(white)

(brown)

K F
(purPle) (magenta)
$189. Ans.(e)

Sol. From both I and II we get to know that D4 was released

immediate before D3.

Movies
D2
D4
D3
D5
D1

$190. Ans.(e)
Sol. From both I and II we get to know that F sits at the
extreme left end.

A[+]=f|3[-]

C—D(-)=E(+)
F(+)

TEST SERIES

BILINGUAL

RBI 2023

Assistant
Prelims + Mains

100+ TOTAL TESTS
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